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1 LIST OF UNDERTAKINGS 1 (9:07am.)
21, Undertaking ............... Pa. 138 2 CHAIRMAN:
32. Undertaking ............... Pa. 154 3 Q. Good morning. Thank you. Seems like a pretty
43. Undertaking ............... Pg. 169 4 decent day out there for an election. Could
5 prove to be interesting, I’ m sure, beforeit’s
6 al over. Good morning, Ms. Newman, are there
7 any preliminary matters before we begin?
8 MS. NEWMAN:
9 Q. Good morning, Chair. No, there are no
10 preliminary matters I’ m aware of.
11 CHAIRMAN:

12 Q. Thank you. Good morning, Mr. Haynes. Mr.
13 Kelly, when you're ready, please.

14 KELLY, Q.C:
15 Q. Thank you, good morning, Chair. Mr. Haynes,
16 good morning.

17 A. Morning.
18 Q. When we broke yesterday we had looked at some

19 of the system characteristicsand how Hydro
20 goes about planning for future generation and
21 we had alsolooked at where the various
22 thermal units and other small units around the
23 island fit into that structure. And | want to
24 takeyou next along that same lineto the
25 report filed by the Industrial Customers by
Page 3 Page 4
1 Intergroup Consultants, Mr. Bowman and Odler. 1 ability to ssimply magically have it added on a
2 | want to take you to page 10 of that report 2 straight line every year.
3 at line 3. 3 A.No, that's correct.
4 A.Yes 4 Q. Andinfact, Mr. Brockman talked about it in
5 Q. Doyou havethat? 5 his evidence as being lumping. So through the
6 A Yes 6 entire plan cycleyou go through essentially
7 Q. Beginning at line 3, the authors write, "In 7 cycles of forecasting and energy shortfall or
8 other words, the current 2004 test year 8 capacity shortfall, then figuring out what
9 generation and transmission complement and the 9 plant is building that plant until then a new
10 2004 test year revenue regquirement reflects a 10 forecast indicates that a plant is then
11 plant in servicethat isin excess of what is 11 required again in another number of years. So
12 considered by Hydro to be required to properly 12 you go through these cycles of building?
13 service the 2004 loads." And |'d like to ask 13 A. Yes, that’s correct.
14 you, asthe Production Vice-President, asto 14 Q. Now, if welook at your table 8 again -
15 whether you agree that the plant in service is 15 A.Yes. If wecouldget Mr. O’ Reilly to -
16 in excess of what you consider isrequired to 16 MR. KENNEDY:
17 service the loads? 17 Q. Page 37, Mr. O'Ralilly.
18  A.No, | don't think what we havein serviceis 18 KELLY, Q.C.:
19 in excess of what’s required to meet the loads 19 Q. If welook at that, even in 2004, as we talked
20 given our criteriathat we operate by. 20 about yesterday, you dtill have aloss of load
21 Q. And let’stake that in a number of pieces now. 21 hours on your probabilistic model of 1.1
22 Asyou add generation capacity to the system, 22 hours.
23 take, for example, Granite Canal--that 23 A.Yes.
24 usually--well, it awayscomes inin block 24 Q. And sothese plantsthat we've talked about
25 increments, doesn'tit. Thereisn’t some 25 are not excess because they’re required to
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1 KELLY,Q.C.: 1 You evauatethe LOLH criteriathat we'll
2 meet that capacity as may be necessary from 2 review. And basically the 2.8 hours per year
3 timeto time. 3 kind of equates-it does equate to
4  A. That'scorrect. 4 approximately 16 percent reserve. And when
5 Q. Now, canl take you to page 28 of the Odler 5 you build anew plant, you don't build to meet
6 document at line 7. And at line 7 the authors 6 specifically 16 percent reserve, it's the
7 write, "The current situation allowsfor a 7 function of the economics of the alternatives
8 serious review of theisdand interconnected 8 that are available. And in 2004 we' re up, you
9 generating plant in service, what role each 9 know, approximately 20 percent reserve. And
10 unit plays in providing the system with 10 basically we will, as the load increases over
11 appropriate levels of reliability and whether 11 time, that will come down to a 16 percent or--
12 aportion of the generating complement in fact 12 and the 16 percent may change, that's not a
13 isnot required for service to the entire grid 13 concrete number, depending on the load factor
14 as opposed to perhaps being simply of local 14 and so on. And then that will trigger new
15 benefit to radial loads for the purpose of 15 generation sources to be required. So you
16 voltage control supply during outages, 16 just can’'t build aplant and then exclude a
17 etcetera” Can | get you to comment on the 17 bunch of small generation that is still used
18 desirability or appropriateness of reviewing 18 and useful to the system.
19 in kind of little time blocks whether a 19 Q. And that would be true for all the type of the
20 particular pieceof plant isimportant or 20 plants wetalked about yesterday, whether
21 whether it’s needed to look across alonger 21 Great Northern Peninsula, Burin Peninsula, or
22 time frame. Just explain that to the Board. 22 out in Wedleyville?
23 A.l guesswhen you plan new generation, asyou 23  A.Yes, that is correct. And | guess in
24 mentioned, or implied, that you don’t actually 24 Wesleyville that would be a Newfoundland Power
25 build a megawatt when you need a megawatt. 25 plant but it all helpsthe overal island,
Page 7 Page 8
1 interconnected load, whether it's Newfoundland 1 of al before youtake off any generation
2 Hydro's generation or load or Newfoundland 2 credits. In other words, you get the full
3 Power’s or the Industrial Customers. It'sa 3 native load forecast.
4 benefit to al customers. 4 A. For theisland planning purposes that would be
5 Q. lI'dliketo goto arelated matter next and 5 the appropriate number, yes.
6 thisis the generation credit for Newfoundland 6 Q.Andif we goto Schedule2 of your evidence
7 Power. | don’t want to get bogged downin 7 and we look at the various Newfoundland Power
8 cost-of-service discussion with you but how 8 generation assets there, we have down towards
9 thisworksin principle. Can | take you to 9 the bottom, we have the hydro electric at 93.2
10 NP-215 as a starting point. 10 and thethermal at 54.2. And those are net
11  A.Yes. 11 capacity numbers as we talked about yesterday,
12 Q. And the answer in 215 talks about the purpose 12 so before we get to any kind of reserves,
13 of the generation credit, to provide a credit 13 reserved capacity that you touched on
14 that represents the capacity valuethat NP'S 14 yesterday we' re going to come back to.
15 generation brings to the island interconnected 15  A. Yes, that's correct.
16 system with respect to system planning and 16 Q. Inother words that' s just the rated capacity
17 operations from which all customers benefit, 17 |ess the station service.
18 and is credited as being consistently accepted 18  A. Yes, the net generating plant capability.
19 since’77. 1'dliketo go through with you 19 Q. Exactly, okay. So onepossihility is if
20 how that works now in practice. As | 20 Newfoundland Power wanted to reduce peak, they
21 understand it, first of all, Newfoundland 21 could run al of those plantsany time they
22 Power provides Hydro with its forecast peak 22 got to a peak situation. But that would be
23 requirements for your planning purposes? 23 inefficient for the system overall, wouldn’t
24 A. That's correct. 24 it?
25 Q. Andthat forecast isthe full forecast first 25  A. Not necessarily but | guess over peak it
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1 MR. HAYNES: 1 Q. Becausewe want to have least cost power. So
2 likely would be, depending on how they planned 2 Newfoundland Power only runsthose thermal
3 the system. 3 stations in really two situations; number one,
4 Q.Let's talk about--take the thermal, for 4 if Hydro calls upon it to meet overall system
5 example. If you have water or number six fuel 5 peak, or if we have aproblem, for example,
6 capability at Holyrood available on the 6 with afeeder line out to Wedeyville, a power
7 system, it wouldn’t make sense for the total 7 outage situation. Y ou agree with that?
8 cost of the system for Newfoundland Power to 8 .Yes.
9 be running the Wedleyville gas turbine, 9 .Now, let's look next at this reserve
10 because it’s more expensive power. Agree with 10 percentage. And if we start--let’s go to your
11 that? 11 JRH No. 3 Exhibit at page 14 wherethere'sa
12 A.Notif Holyrood hasthe ability to generate 12 discussion of that.
13 more power. If it'smaxed out, then it may be 13 . Page 14?2
14 gas turbines or diesels or whatever is 14 . Yes, page 14. And just explain to the Board,
15 required over that particular peak. 15 it begins there under "System Operation”, it
16 Q. Right. Sothat - 16 requires approximately 16 percent or 300
17 A. There snot apat answer, | don’t think. 17 megawatts of reserved capacity to meet the
18 Q.No. Butin theusua case, leaving aside 18 planning criteria. Can | get you to elaborate
19 these peaks where there’'s no more capability 19 on how that--what that means and if you could
20 in Hydro’s system, it would not make sense, 20 explain that to the Board and as you come to
21 for example, to run Wedleyville aslong as you 21 this you can also look at 1Cc-293 which
22 can provide the power from Bay d’ Espoir or 22 provides some helpful information.
23 Granite Canal or Holyrood. We agree on that? 23 (9:20am.)
24  A. Giventhat it'savailable elseawhere, that's 24 A.| guess we undertook areview, | guess, of the
25 correct. 25 LOLH to determine what that means with respect
Page 11 Page 12
1 toreserve. And | guessat one pointintime 1 Thistalks about wherethe reserve capacity
2 wewere at 18 percent and | guess--and there 2 fitsinto the operating sequence in effect.
3 are several things that affect that; the load 3 If | take you down to lines 19 through 22 -
4 factor, the daily load shape and soon. And 4 A Yes
5 that particular review resulted in that the 5 Q. Just explain how that reserve capacity issue
6 2.8 hours per year basicaly is approximately 6 bears upon how you bring these units online
7 16 percent reserve requirements with basically 7 and how they’re operated.
8 300 megawatts of capacity, most of it, or a 8 . There was some discussion yesterday regarding
9 lot of it is peaking capacity that’s available 9 the loading of the units. The operator in the
10 tohelp usget over that maximum predicted 10 control centre hasto keep ahead of the load
11 peak that we would see. 11 growth, the--not the load growth on along-
12 Q. Okay. Andif we go to1c-293, can we just put 12 term basis, but on a daily load. For
13 that up on the screen? Can you explain there 13 instance, units come onin the mornings when
14 how that 2.8 hourstiesinto the 16 percent 14 people get up and start to increase the
15 down at lines 13 through 15? 15 demands on electrical energy. They start in
16 A Yes 16 the evening as well when people go home. So
17 Q. Anything elseyou need to add to that or is 17 the operator hasto stay ahead of it. He has
18 that sufficient? 18 toturn theunits on. Aswell, we're not
19 A Wellthat's is. Thereis--thereport that 19 interconnected to the mainland grid so there's
20 actually doesthat isincludedin 1c-158if 20 afrequency regulation component which they
21 there was other clarification required. But 21 have to pay attention to. And you don’t turn
22 the, you know, the actual deliberation or 22 onamachineand turnit up tothe pins, as
23 determination of the 16 percent - 23 I'll say. Youdon't turn it up on the maximum
24 Q. Now, just go over to IC-294, the next--and we 24 output, it has nowhereto go. If the machine
25 looked at the first part of thisyesterday. 25 has nowhere to go, in a sense you can’t open
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1 MR. HAYNES: 1 Q. Now, we'retaking about the generation credit
2 the wicket gates more, you can't open the 2 for Newfoundland Power and we looked at
3 steam valve more, it cannot contribute to 3 Schedule 2 which gave us the net capacity of
4 frequency regulation when theload goes up. 4 Newfoundland Power’ s generation, but that full
5 It can contribute when the load goes down a 5 capacity isnot used for the purpose in the
6 little bit, but it’snot arecommended place 6 generation credit, you take out this reserve
7 to be because the governors and so on usually 7 component as well, first, don’t you?
8 need alittle bit of latitude for chasing the 8 A.The 16 percent is adjusted.
9 frequency. They all move alittle bit, some 9 Q. Let'sjustgoto havealook at that atiC-
10 units more than others. So the operator, when 10 306. Andif we scroll down to the table at
11 heis dispatching loads, has to keep his eye 11 the bottom, you can just explain the capacity
12 to that. He hasto maintain areserve to look 12 credit and how this works.
13 after if we lose a machine, sudden load pick 13 A .Wdl, | guess on the revision, the
14 up or suddenloadloss. Soyou just don’t 14 Newfoundland Power coincident of peak is 1,084
15 turn the machines on to their maximum 15 megawatts. And then it'salsoincluded in
16 capability and then when you hit the pins, 16 that then to be considered how much generation
17 turn on another machine. Y ou cannot operate a 17 they have online at the time, which is
18 system that way. 18 considered to be 77-1/2 megawatts. So their
19 Q. Okay. Now, and the last part of this answer, 19 native load; i.e., the total load that
20 lines 20 through 22 talk about the fact of 20 Newfoundland Power is servingis 1,161-1/2
21 therefore what you do is you bring Holyrood up 21 megawatts. And the expectation for
22 to full capacity or capacity with some reserve 22 Newfoundland Hydro is that we would providein
23 left and then control the frequency or the 23 anormal situation, 1,084 megawatts. And the
24 reserve with the hydraulic unit? 24 capacity credit, which is 94.6 megawatts,
25 A.By andlarge, yes. 25 which you would also seein Schedule?2 is
Page 15 Page 16
1 actually divided by the 1.16 to give them the- 1 A. The principle has been consistently applied.
2 -you know, they’re giving credit on the same 2 Q. Now | provided ahand-out whichis from the
3 basis of the 16 percent reserve requirements. 3 February ’'93 Hydro cost-of-service
4 Q. Sowe get, the credit that we get takes off 16 4 methodology. | just want to have a quick look
5 percent just like you needed it, acrossthe 5 at that.
6 whole system, correct? 6 MS. NEWMAN:
7 A. That number is used across the system, yes. 7 Q. That will beinformation item No. 13.
8 Q. Andso thecredit for the hydraulic isthe 8 KELLY, Q.C::
9 81,000 kilowatts or 81 megawatts and for the 9 Q. 13, thankyou. And this question of the
10 others, 37 and 6. 10 generation credit was looked at at that point
11 A. That’scorrect. 11 in time and page four gives the various expert
12 Q. Correct. Okay. And so the demand use for the 12 witnesses who testify that and we'll take you
13 cost-of-service alocation purposes, if we 13 through that. But if you come over to page
14 take the Newfoundland Power’ s forecast native 14 50, theissue in’93 was whether the mobile
15 demand, the peak demand and then we lessthe 15 gasturbine at Port aux Basques wasto be
16 generation credit off of that, correct? 16 included for purposes of that generation
17 A.Yes 17 credit, because the issue was it was mobile.
18 Q. Now, aswe saw in NP-215, the generation 18 And the Board concluded that becauseit is
19 credit, that process has been used 19 essentially tied into the system the bulk of
20 consistently since 19777? 20 the time and available to provide power, that
21 A.As | said, there were different reserve 21 it was appropriate to include that as part of
22 factors done astime changes, asload factor 22 the generation credit.
23 changes, but that’s correct. 23 A.Yes.
24 Q. But the principle has been consistently 24 Q. Andthat'sone of the plantsthat we talked
25 applied. 25 about that is still in place that still
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1 KELLY, Q.C: 1 Q. Andsowould you also agree with me that in

2 provides this assistance to your LOLH planning 2 terms of excess capacity, it isinappropriate

3 criteriawe talked about earlier? 3 to review thequestion of the generation

4 A. That'scorrect. 4 credit calculation just asit is, for example,

5 Q. Andthe Board reiterated its position on the 5 inappropriate to review the use of the

6 generation credit inthe P.U.7and | won't 6 generating facilities on the Great Northern

7 take you back through that in any detail. Can 7 Peninsula that belong to Hydro.

8 | take you to Mr. Oder and Mr. Bowman for a 8 A. |l think the approach that’s been proposed by

9 moment at Section 6.3 which is on the bottom 9 Hydro is consistent in the application of all
10 of page 28. And it begins at about line 20-- 10 these generation sources.
11 we'll start at 24, or 25. "However, given the 11 (9:30am.)
12 current situation of excess capacity until 12 Q. Now let’sturn next then to have alook at the
13 2011, three matters merit review", they 13 question of the transmission line assignment.
14 suggest. Oneisthe allocation of the GNP 14 And | wanted to talk with you about the Burin
15 generation, as common. Two is Burin 15 ling, in particular. Let'sstart by going to
16 Peninsula. Mr. O'Rellly, if could just scrall 16 JRH No. 3 and we'll start with page 6 which
17 over to the next page. Threeisthe provision 17 has got, | believe, aplan. There we go--or a
18 to NP of the generation credit. So they tie 18 map. Can we scroll up alittle bit more, Mr.
19 in the generation credit to this question of 19 O'Reilly, so we can get the Burin Peninsulain
20 excess capacity. Now, we've agreed, | take 20 down there. Can you blow up the Burin part of
21 it, Mr. Haynes, that there is no excess 21 it abit, becausethat's what wereally need
22 capacity in the system in your view? 22 to focuson. There we go.
23 . Thereis no excess capacity inthe systemto 23 Now, perhaps we can just have a 100k,
24 meet our planning criteriaof 2.8 hours per 24 first of all, Mr. Haynes, and you can explain
25 year. 25 where these lines are when we look at who is

Page 19 Page 20

1 served with these lines? Can you just walk us 1 Q. Now, theTL-212 line, there are a number of

2 through that? 2 Hydro rural customersalong that line near

3 .1 guess the 138 kV line serving the Burin 3 Paradise River and the Linton Lake area?

4 Peninsula ultimately terminate onthe main 4 A Yes, Petit Forte and there'sa couple of

5 grid at Sunnyside. TL-212 isfrom Sunnyside 5 isolated areas which were served by -

6 to Monkstown and there's a spur line to 6 Q. Okay.

7 Paradise River which is a Hydro owned 7 A. (Unintelligible) system.

8 generating plant of eight megawatts. That 8 Q. And from--theselines, 219 and 212, these

9 lines continues onto Linton, eventually to 9 ultimately tie together with a loop down
10 Linton Lake and there' s aso another 138 kV 10 around through Green Hill and the bottom,
11 line that goes from Sunnysideto Salt Pond. 11 which would be a Newfoundland Power line?
12 And on the foot of the peninsula, it connects 12  A.Yes, | believe thoselinesare 66 kV inthe
13 the Green Hill gasturbine, the three plants 13 loop.
14 of Newfoundland and Labrador Hydro and 14 Q. Right. So, if, for example, we took the TL-
15 assuming that we do conclude on the wind 15 212 line and that was out of service for some
16 contract, we'll include a 25 megawatt wind 16 reason, either because of a transmission
17 generating site at St. Lawrence, in that area. 17 outage problem or because the line was out for
18 So there’'s asignificant generation on the 18 maintenance, you're replacing insulators or
19 Burin Peninsula. 19 line or whatever, then the other line services
20 Q.Andthewind generation site, Lawn isshown 20 the load and vice versa?
21 there and that’ s approximately about where the 21  A. That'scorrect.
22 wind generation site is going, down that Lawn, 22 Q. And you talked about the problem that you have
23 St. Lawrence area? 23 up in Goose Bay where you have only oneline
24 A.| gather it'snot too far from St. Lawrence, 24 so that the two-line system enables oneline
25 yes. 25 to be taken out for maintenance from timeto
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1 KELLY,Q.C.: 1 similar to GNP. It’snot as significant or a
2 time? 2 bigger factor from the point of view of the
3 A.That'scorrect. 3 local transmission, but it’s still an aid to
4 Q. Havealook at page 18 of your JRH No. 3 for a 4 the overall system, still benefits all
5 second. And I'd like to get you to explain to 5 customers in meeting our 2.8 hours per year
6 the Board this transmission allocation 6 criteria
7 guideline that you set out there and why 7 Q. Andaswe looked at the table that's in the
8 you're proposing that as a reasonable 8 report, we don’t need to go back to it now,
9 guideline. 9 but there isin total, some 34.7 megawatts of
10 .1 guess there are several different 10 generating capability already down on the
11 considerations in allocating, or our proposed 11 Burin Peninsula?
12 alocation of transmission cost. Y ou know, 12 .Yes. And the possibility of 25 more in the
13 we' ve been serving two customers. | guess the 13 near future.
14 guidelines were, it would be common plant, if 14 . I want tojust take youtothat point at--
15 it servesgeneration and transmission--I'm 15 let’sjust go to NP-219. And this talks about
16 sorry, generation and so on, it's common 16 that 25 megawatts of wind power. And that, |
17 plant. But there arealot of considerations, 17 takeit, is asignificant increasein the
18 you know, the size, the substantial benefits 18 capacity so it would now give us almost 59.7
19 to more than one customer and soon. Soin 19 down there.
20 the whole, we have proposed that the Burin 20 .That's correct, but | guess our
21 Peninsula, because it servestwo customers, 21 recommendation--Hydro’s recommendation is with
22 because it has significant generation and 22 or without the 25 megawatts, that the 34.7 is
23 significant generation | think isthe key, 23 still substantial enough to consider to be a
24 that it should be considered common. Inthe 24 common -
25 Port aux Basguesarea, the generation is 25 . Yesand | don’t quarrel with you with that but
Page 23 Page 24
1 | want to givethe Board some sense of the 1 . Yes, that’ s correct.
2 order of magnitude both with and without. And 2 . Now, I'd like to turn next and have alook at
3 if wejust have alook at 1c-339,for a 3 number six fuel if | could. Kind of change
4 moment, the peak demand down onthe Burin 4 gearsa little bit here. AndI'dlike to
5 Peninsulain 2002 which--that would only, | 5 start with--on this topic with Schedule 7 of
6 take it, happen during the winter period, with 6 your evidence.
7 only 58.7 megawattsin total? 7 A Yes
8 A.Yes. 8 Q. Andas!| understand from the first line there,
9 Q. So, during a good part of the year the 9 the fuel expense which is--thisis the number
10 capacity down thereand certainly with the 10 six fuel that we'retalking about that your
11 wind when it comeson stream, the wind plant 11 forecasting for 2004 is 84.4 million dollars?
12 in particular, will in fact provide generation 12 Scroll across to--as you go across--there, Mr.
13 capability to the whole system, would it not, 13 O'Reilly has got his -
14 Mr. Haynes, including customers off the Burin 14 .Yes.
15 Peninsula? 15 . Now, | just want to try to understand that a
16 . That’s correct and consistent, consistent with 16 little bit first. The way that you kind of
17 our proposed - 17 work through this iswe take the forecast
18 . Right. And so, would you agree with me that 18 energy generation, takeout what you can
19 the Burin facilities and the transmission 19 produce with your hydraulic, that then gives
20 lines actually service three groups of 20 you what you're going to require for out of
21 customersat least. Number one, the Hydro 21 Holyrood. And, as| understand it, from this
22 rural; number two, the Newfoundland Power or 22 particular table, you need 1,790 gigawatt
23 common ones, and also the Industrial Customers |23 hours out of Holyrood. Is that essentially
24 by providing that capacity off the Burin--of 24 correct?
25 assistance to them. 25 A.Yes, there are afew other considerations but
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1 MR. HAYNES: 1 $600,000 comes from or goes to?

2 that isthe major driver. 2 A.Theaverage price at that timefor 2004 was

3 Q. That'sthegist of it. Andthen you've got 3 based on a single number, but we do consider

4 that many gigawatts to get out of Holyrood and 4 the inventory going into the year so, you

5 you use a fuel conversion factor of 624 for 5 know, there’ s some impact at the inventory at

6 each barrel, and you determine from that, that 6 theyear end. Soitwouldn't be strictly a

7 you need 2,868,830 barrels of oil, have | got 7 straight Math, particularly when we use a

8 that much right? 8 single number for 2004, which isall what we

9 A.That'scorrect. 9 had from PIRA at the time.

10 Q. And just by way of curiosity, more than 10 Q. Ifit's dready in inventory, why wouldn’t

11 anything else, how bigis abarrel inlitres 11 that be adjusted through the RsP?

12 or gallons? 12 A.Waéll, theinventory at the end of the year is-

13 A.42uUs 42gdlons. 13 -what we have established in the il tanksis

14 Q.42 usgadlons? 14 an average inventory price of whatever it

15 A.l believeit’'susgallons. 15 happened to be. It would not, | don’t think--

16 Q. Andnot to digresson that point, the number 16 thefield inventory isnot part of the RSP

17 of barrels, you then multiply by the fuel 17 directly -

18 price forecast which you told usis $29.20, to 18 Q. There'sroughly about $600,000 extrain that

19 get the amount of money that you need? 19 number over the $29.20 for existing inventory?

20 A.Yes. 20 A.I'mnot sureof the exact mechanics or the

21 Q.Andwhen youdo that Math, 2,868,830 times 21 volume, but that’ s basically at the year end,

22 29.20 you get 83.8 million dollars. 83 22 thereisan allowance for inventory costs at

23 million 769, to be more exact. And what we 23 thetime. There were RFIs answered to that

24 were wondering about is you got aforecast of 24 effect and giving some flow charts.

25 84.4 and we're wondering where this other 25 Q. Wewere trying to understand how that worked.
Page 27 Page 28

1 Okay. Sotheaverage kilowatt hour or the 1 then see if we can come back to that one. Can

2 conversion factor depends on the generating 2 | takeyou to NP-74? Let'sjust see how we

3 efficiency of the plant, sothat the higher 3 get these numbers first. At line 11 there, it

4 the fuel conversion or efficiency, the lower 4 indicates how you get the 624, if we could

5 the fuel cost over al? 5 scroll up the table, Mr. O’ Reilly, there you

6 A.The higher the overall efficiency of the 6 go. You took the average for 1996 through to

7 plant, the higher kilowatt hours per barrel 7 2002, correct?

8 and that would reduce the actual cost of fuel. 8 A.Yes, that'sthe weighted average, yes.

9 Q. Nowin 2002, the Board set it at 615, but 9 Q. Okay. And so you've got production data from
10 Hydro actually achieved, asyou show on your 10 "06 all theway up to 2002, and why did you
11 schedule here, 648, and if we go to 1C-207, 11 take 19967
12 and we scroll down towards the bottom of that, 12 A.In 1996, we installed--we purchased and
13 that actually resulted in about a difference 13 installed a program called Eta Pro at the
14 of $6 million intotal of which 3.6 million, 14 Holyrood plant, which basically assists the
15 in fact, would have accrued to Hydro's 15 operators in tweaking and maximizing the
16 benefit? 16 efficiency. It looks at many operating
17 A.Yes, that's correct. 17 parametersin the plant to ensure that we stay
18 Q. Okay. 18 up as high aswe possibly can. The operator
19 A.Andif you go to Schedule 5, which showsthe 19 has afair bit of control over internal plant
20 chart, | mean, 2002 was an exceptionally high 20 stuff and the system operations people also,

21 production--a record production year for 21 inthe control centre, try to maximize the

22 Holyrood, which would naturally, al things 22 loading required of the plant.

23 being equal, drive the efficiency factor up. 23 Q. Sothere was an improvement in efficiency in
24 Q.Okay. Andl take that point, but let’'sgo 24 1995, so you looked at the data then from 1996
25 through a couple of other factors first and 25 on?
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1 MR. HAYNES: 1 are located in the corners of a square box on
2 A. Therewere new tools installed, effectivein 2 different elevations. No. 3 isa Babcock
3 1996, that would aid the operator in achieving 3 Wilcox boiler and basically it’ s front-fired.
4 a higher number. 4 All the burners are on the front face of the
5 Q.Okay. Andcanl suggesttoyou that there 5 boiler, and when it’ sfiring, you tend to get
6 have been some improvements in output 6 build up on the back wall of the boiler, on
7 efficiency since 1995, in other words, from 7 the tubes. So what the water lance project
8 1996 on as well? 8 didwas basically install adeviceto goin
9 A. Therewerea couple of projects which would 9 there and inject the amounts of water to keep
10 help ensure that we stay up to our proposed 10 that area clean, you know, to reduce the build
11 624. 11 up of slag and so on, which basically impacts
12 Q. Okay. Let’slook at 1c-252 for a moment, and 12 the amount of heat that can be transferred to
13 there are three projects that are talked about 13 thewater wall. Sothat’s what the water
14 there. The water lanceinstallation, the 14 lance project was.
15 reheater tubing on No. 3, and the Continuous 15 The reheater retubing project, which was
16 Emissions Monitoring System, and perhaps we |16 completed a couple of years ago, or ayear and
17 could start by having you--you say in line 14, 17 a haf ago, was based on--and this was
18 oneand two should be considered together. 18 discussed at one of the Capital hearings, the
19 Could you just explain to the Board what one 19 reheater in Unit No. 3, you try to control the
20 and two were all about? 20 temperature of the main steam and the reheat
21 (9:46 am.) 21 steam to about 1,000 degrees C, and there was
22 A.There are three boilers in Holyrood, 22 great difficulty fromday oneintrying to
23 obviously, one for each unit. Thefirst two 23 match those numbers, and what we did, we
24 machines are tangentially fire boilers, which 24 basically retubed the reheater, either added
25 means the guns or the burners, if you will, 25 tubing or removed tubing totry to balance
Page 31 Page 32
1 that particular situation, and they’re all on 1 overall at Holyrood, of two kilowatt hours per
2 the same unit. That’'sthe first two. 2 barrel?
3 Q. Okay. Beforeyou go on to the next one, when 3 A That would bethe calculated number based on
4 were those two projects on No. 3 unit 4 assuming that Unit No. 3 generates one-third
5 completed? 5 of the production. Actually, it's morelike
6 A.lthink they were completed in 2002, | believe 6 closeto one and ahalf. Unit No. 3 overal
7 they were actually finished. 7 is not the most efficient machine, soit’s not
8 Q. Right. So that improvementin efficiency 8 the favoured machine, if you go down through,
9 would not be in the data from 1996 through to 9 you know, a priority loading system. Soit’s
10 2002? There might be someimpact, but only in 10 actually that particular humber of two
11 the year 2002? Would that be correct? 11 kilowattsis based on equal loading of the
12 A.ldon'trecal if the water lance project was 12 machines. It's morelike one and a half
13 actually completed in 2001. That may have 13 actually, if you calculate the number.
14 been alittle bit earlier than the reheater, 14 Q. For purposes of rounding here, call it two.
15 but there would not be certainly prior to 2000 15 A.Orone
16 any impacts of those changes. 16 Q. It'syour number. Line 24, you then start,
17 Q. Right. And in 2002, aswe ve already seen, 17 you then talk about the Continuous Emissions
18 that’swhen you got 648 kilowatt hours per 18 Monitoring Project. Perhapswe'll just get
19 barrel in any event. 19 you to explain what that is next, first.
20 A.Wesuggest the biggest driving factor there 20 A. The Continuous Emissions Monitoring Project
21 was the fact that we had avery, very high 21 was approved in the 2001/2002 budget, our
22 average unit loading. 22 capital, and it’ll be completed--well, it's
23 Q. Okay. But those two projects at No. 3 unit, 23 just being completed now as we speak,
24 as we come down to line 22, equates to a plant 24 calibration and so on. Basicdly, it's
25 efficiency improvements, in other words 25 primary role isto monitor our emissions, our
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1 MR. HAYNES: 1 two or three items to assure of being ableto
2 environmental emissions, to give us a better 2 meet 624. There are so many variables that
3 handle on exactly what we're gjecting into the 3 affect the conversion factor at Holyrood, with
4 environment, CO2, et cetera, et cetera, and it 4 unit fouling and the conditions that this will
5 does provide feedback to the operator to alow 5 assist usin meeting that and aswe built on
6 him to control particularly the excess air or 6 that over time, we will change our average
7 oxygen and so on to tweak the burning process. 7 appropriately or propose it be changed
8 And it's anticipated, based on industry 8 appropriately.
9 numbers, that it can contribute toup toa 9 Q. Just havea look at NP-207, and this isthe
10 half percent increase, which of 600 kilowatt 10 experience for 2003 and for 2003 to the end of
11 hours would be three. 11 June, you are running 639 as your conversion
12 Q. Sothatiteminline26 to 27 isanticipated 12 factor?
13 to give you animprovement of about three 13 A.Yes, that's correct, and we' ve had some lesser
14 kilowatt hours per barrel? 14 months since.
15 A.Onitsown, al things being equal, that would 15 Q. Okay. Doyouknow what the current amount
16 bewhat wewould anticipate. We have not 16 would be?
17 proved that actually as yet, but certainly we 17 A.The actua calculation for the end of
18 hope to achieve that. 18 September is 636. There's been a
19 Q. Okay. And that, of course, would not, because 19 deterioration.
20 it'snot yet inservice, it'sonly going to 20 Q. S0 636 to the end of September?
21 come into service this fdl, that is not 21  A. That'scorrect.
22 reflected in any of the average numbers that 22 Q. But that would account for Holyrood' s slowest
23 we just looked at in NP-74, correct? 23 months of all, whichwould be June, July,
24  A.Weconsider, | guess, our proposa of 624 24 August and September, would it not, when the
25 kilowatt hours per barrel, we consider these 25 load would be the least?
Page 35 Page 36
1 A.Yes, that'scorrect. 1 fouling issues between the condenser water
2 Q. Okay. Now you talked about your loading graph 2 temperature and, you know, heater performance,
3 and you could put up again, if you want, but 3 cooling water, condenser fouling, the amount
4 we looked as we went through how the system 4 of build up of ash and so on inthe air
5 operates, how you get Holyrood up to capacity 5 preheatersal impact that number, and when
6 lessreservefirst and then adjust the peak 6 you look at that particular chart, between 100
7 through the hydraulic units. We talked about 7 and 120 megawatts, basically 30 percent of our
8 that. So that having gotten these 8 operating monthly averages are actualy
9 improvements in efficiency, can | suggest to 9 between 100 and 120 megawatt number, not up at
10 you, Mr. Haynes, that because of the way you 10 the 140. Infact, it'sless than ten percent
11 operate the system, these efficiency gains are 11 of the timethat we're actually on average
12 ableto be achieved by the way you load the 12 unit loading in excess of 140 megawatts, which
13 system? Can | get you to comment on that? 13 would drive the conversion factor, as you see
14 A.Yes. Obvioudly our target isto maximize the 14 it there, to between 625-620 number.
15 energy conversion factor, but when you look at 15 Q. But wouldn’t that have been true now through
16 that particular graph, that there basically is 16 the summer that we just came through, in 2003
17 five or six years of data and depending on the 17 at Holyrood, in other words, you would have
18 average loading that you seein any particular 18 been down in those lower load levels?
19 year, youwill have a lot of those, the 19  A. Well, not necessarily. When we' re running the
20 scatter points, you know, on the high end. 20 machines for voltage support, particularly on
21 Likeat 140 megawatts, you'll obviously see 21 the shoulder months, it susually at alower
22 that we--if we can stay up there continuously 22 loading. We wouldn’t necessarily--we wouldn’t
23 and start the machine and load itto 140, 23 actually burn oil or keep it at 140 megawatts
24 whichis not practical, there area lot of 24 if wedidn't needto do it for hydraulic
25 other system conditions. There are unit 25 purposes, but we would keep it on for voltage
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1 MR. HAYNES: 1 Q. Okay. Isit possibleto modify the tablein
2 support. We have to maintain some generation 2 NP-74t0 assume those efficiencies that you
3 on the east coast, particularly in the 3 told us about for the water lance
4 shoulder months because of the load, and it's 4 installation, the Unit No. 3 rebuilder, as
5 amajor load areaand there' svery little 5 well asthe experience for 2003 and come up
6 generation here. Soit’savery mixed bag of 6 with a modified composite number?
7 influencing factors between the hydrology 7 A.Youmean if wewereto add five kilowatt hours
8 system, the voltage conditions on the system, 8 per barrel?
9 and aswell when we have transmission lines 9 Q. Fiveto each of those and factor in the 2003
10 out of service for maintenance. Sothere’'sa 10 performance?
11 wholeraft of factorsthat play into that 11 A.Whenyou say to each of those, you meanto
12 overall what we're going to achieve at the end 12 which particular ones?
13 of theyear. But we do strive to maximize it 13 Q. Wadll, | guess, | haveto leaveit to you asto
14 as best we can, yes. 14 what you would do with the 2002 data, asto
15 Q. And up to the end of September, you're running 15 when some of those projects came on stream,
16 at 636 for 2003? 16 but | don't think any of them, from your
17 A. That isour record to date for 2003. 17 testimony, affected the earlier years. So if
18 Q. Whenyou file your updated evidence, do you 18 there's an improvement of approximately five
19 intend modify the 624 number to reflect 19 kilowatt hours per barrel, that five would
20 current dataand the three projects we just 20 apply to what, " 96 through 2001?
21 looked at? 21 A.ltcertainly wouldn't be appropriate to add
22 .It's not our intention to change that 22 that to--the water lance or the reheater to
23 recommendation, no. 23 2002 because they were in service.
24 . It isnot? 24 Q. Yes, | understand that. But could it not be--
25 . No. 25 could that not be done for the earlier data to
Page 39 Page 40
1 make them comparable to the plant that you're 1 Would you not agree with that, Mr. Haynes?
2 now running now and then also account for your 2 A.ldon't--I think I stand by the fact that we
3 2003 performance? 3 would do it on an average basis. When we are
4 . Our recommendation is to--we' ve put in these 4 determining what our fuel conversion factor
5 projects. Wewould liketo verify its, | 5 is, | mean, we'renot doing it specifically
6 guess, itsimprovement over a period of time 6 for today. We'redoing it for a number of
7 and let the average look after it. Wedon't 7 years to cover off the next time we file, and
8 really recommend going back and trying to 8 there may be some improvement in the short
9 changethat. There are so many variables out 9 term. It may be eroded over the long term,
10 there that influence that number and asyou 10 based on plant conditions, and if you go back
11 will seein 2003, even with those projectsin 11 to the chart that’s on NP-74, you know, you
12 place, except the Continuous Emissions 12 have--you could use that analogy to add five
13 Monitoring, we had 605, in June we had 588 and |13 kilowatt hours per barrel to 577. That'sa
14 | guess, in August and September, they were 14 low production year of approximately one
15 608 and 622. They were less than the 625. We 15 terawatt hour. 1n 2000, it wasless than a
16 don’'t--1 mean, it can be done, yes. 16 terawatt hour, you know, and in 1998, it was
17 Q. Yes. Butif youdon't do that, doesn’t Hydro, 17 1.2. Soit’'sadifficult exerciseto predict
18 as opposed to rate payers, take the benefit of 18 what our performance will be and we obviously
19 that improvement in efficiency, because you 19 are striving to improve it and to sustain that
20 haven’t--none of that, apart from the 2002 20 improvement, but we would really and very much
21 year, on thetwo kilowatt hours per barrel 21 like to prove those particular changes and to
22 item, it’s not factored in at all, which seems 22 let the average look after it over a period of
23 to be Hydro then takes the benefit of these 23 acouple of years, it'll start to creep up, if
24 improvements, which have been paid for out of 24 in fact they do pan out and we get that.
25 capital dollars, asopposed to rate payers. 25 (10:00 am.)
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1 KELLY,Q.C: 1 A.No, that's pretty standard practice in pretty
2 Q. Okay. We'll leave that one for argument then. 2 well any electrical utility or any particular
3 Can | take you next to a couple of questions 3 group who looks after the long-term planning
4 on hydrology? And thisisat page 28 of your 4 of ahydro system.
5 evidence. 1I’'mnot going to spend a lot of 5 Q.Okay. And the second bulletis "theinflow
6 time at this, butl’d like to get some 6 sequences presently used by Hydro should be
7 understanding of the status of this. If we go 7 corrected to ensure internal consistency" and
8 down to Section 7.2, if we could just scroll 8 the report talks about data problems that need
9 up alittle bit, Mr. O’ Reilly, there we go. 9 to be corrected and there' s three points here.
10 Y ou indicate that this Acres report has been 10 I’'m going to givethem all to you together.
11 done and then at line 24, there are a number 11 So thefirst oneisthedata correction for
12 of recommendations, "the longest reliable 12 consistency, and then if you come down to the
13 reference inflow sequence period of period of 13 next page, line4, just scroll up alittle
14 record should be used for al Hydro's 14 bit, it's "Computer simulation of the
15 operation planning and rate setting purposes.” 15 operation of the hydroelectric system using
16 Just stop there. As we saw yesterday, you 16 reference inflow sequences should be used to
17 actually use, for the system, part of your 17 estimate energy production and spills from
18 planning criteria, you use actually the three 18 Hydro' s hydroelectric resources. Hydro should
19 driest years, as opposed to an average period? 19 review its in-house models and other models
20 A.That'sfor thelong-term system planning to 20 available and select one for these purposes.”
21 identify when new sources are required to meet 21 So item one is data correction for
22 our expected load, yes. 22 consistency. Two ismodel selection, and then
23 Q. Andyou, asthe production vice-president, | 23 it goes on "the above-noted corrections to the
24 gather from your evidence yesterday, don’t 24 inflow sequences should be completed prior to
25 intend to change that? 25 simulating operations under the model, and
Page 43 Page 44
1 sincethe system simulation models usually 1 thewhole. It may have been asplit been
2 requirea common start date for al inflow 2 Upper Salmon and Granite Canal and so on, but
3 sequences, datafrom the early years of some 3 not necessarily the whole water shed area, and
4 inflow sequences will have to be cut off." So 4 they, at Acres, suggested they were, you know,
5 there are three items. Number one is 5 fairly minor.
6 correcting for consistencies. Two is 6 Q. So beforeyou go on, Mr. Haynes, that project
7 selecting and running some kind of model and 7 or that part of the project, when will Acres
8 threeis curtailing some of the data streams 8 report with that?
9 to get acommon start date. Can you tell us 9 A.lthink it'stowards the end of the year that
10 what the status of each of those three 10 that will be complete.
11 components are and when you expect themtobe (11 Q. And will that be in awritten report form?
12 completed? 12 A.Yes, normaly that would bein a written
13 A.Yes, | would add a caveat that the 13 report or a data set, whatever. Basically,
14 recommendation also by Acreswas that these 14 it's an exercise to correct--statistically
15 would not have any major impact on the overall 15 correct to standard statistical methods some
16 outcome and they all can be readily corrected. 16 inconsistency that they did see in some
17 With respect to theinflow sequences, Hydro 17 portions of the data.
18 has awarded a contract to SG Acresto review 18 Q. Okay. Couldyou tell us about the next one,
19 that and to do that and hopefully it’ll be 19 the model selection?
20 done towards year end, that we would actually 20 A.| believethat’s aso under review to look at
21 have those inconsistencies in the data 21 that, and that basically wason our--right
22 corrected, and | should also add that that was 22 now, | think most of the spills and fisheries
23 not on every reservoir. That was on--in some 23 arekind of on an average basisover long
24 cases it was adistribution of the inflowsin 24 term. It'sarefinement, basicaly, to what
25 the Bay d’ Espoir reservoir, not necessarily 25 we're doing to allow usto do better. Wedo
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1 MR. HAYNES: 1 Q. Butl takeit, it will be some time after you
2 have some modelsin-house and they are being 2 get the Acres report with the correction of
3 reviewed. | apologize, I’'m not quite sure 3 the data inconsistencies?
4 when that will be done, but it isin progress. 4 A Well, as Acres suggested, it would be
5 Q.HasHydro gone outside, because the authors 5 appropriate to correct the data set before we
6 heretalk about looking at the ones you've 6 proceed on that.
7 already got and then going outside and |ooking 7 Q. Sothat will be sometime in 20047?
8 at other models aswell, has that been--have 8 A. Atthelatest, yes.
9 you gone outside yet? 9 Q. Okay. And thenthe last part of that is
10 A.ldid not review that actudly, if we' ve gone 10 curtailing the datastream. Hasthat been
11 outside, but | would suggest that if we have a 11 addressed yet to know exactly which common
12 model in-house that could do it, we would make |12 start dates you're goingto get for model
13 our utmost efforts to use that. 13 simulation?
14 Q. Wouldn't you try to get the best model, even 14 A.Yes. What we had proposed--the current filing
15 if it means you got to go outside and look at 15 isbased on a30-year averageinflows, as
16 the others as well? 16 directed by the Board in P.U. 7, and what we
17 A. Notif we' ve aready paid for one that we own 17 had proposed was that the earliest common date
18 that can do the job. 18 was, | believe, starting in 1950. So there
19 Q.ls somebody in Hydro analysing that to 19 are some years of historical information prior
20 determine which model should be selected? 20 to 1950 that would be abandoned. But on a go-
21  A.The operations planning people would be 21 forward basis, we would peg 1950 and build on
22 reviewing that, yes. 22 that in future.
23 Q. And when will they report to you on that? 23 Q.Whenyou say you've proposed that, whereis
24 A.I'mnot exactly sure. | have not--I do not 24 that curtailment at 1950 proposed? |sthat
25 have that date in mind right now. 25 somewhere in the evidence? Because | took it
Page 47 Page 48
1 from reading this that that was till to come 1 Q. Theconcern that we have down here, of course,
2 once you had corrected the consistencies and 2 is that we haven't yet seen: one, the
3 run the model. 3 corrected data; and two, the model runs in
4 A. What we had endorsed was the recommendation of 4 terms of its potential impact. So in order to
5 Acres and I'm quite certain that's actualy in 5 kind of addressit logically, you need to see
6 the Acres report. 1950 was the date. 6 that first, and hence my question. When it is
7 Q. So- 7 done, will you be reporting it to the Board?
8  A. And we endorsed the recommendations of Acres. 8 So that we all have access to afinal report
9 Q. But by the time you get the model selected and 9 with the corrected data and the results and
10 the data done, it will be some time in 2004. 10 conclusions of the models or the model.
1 Will you then be providing that to the Board 11 A.If the Board requests, we will provide it.
12 and the parties, once that is done? 12 However, | should--1 mean, | think when we get
13 A. That has not been requested, but what we are 13 down into the nitty gritty of the hydrology
14 proposing, as| mentioned whenwe started 14 recommendation, the most appropriate person
15 yesterday, is that we are not proposing to 15 will be Ms. Richter, who will be testifying on
16 adopt that model for this particular filing. 16 that there, but the basisis that based on the
17 What we're looking for isresolution to the 17 review doneis that the best record that we
18 issue so that when we file future applications 18 haveis a long-term average, which we are
19 and for our year-to-year planning purposes 19 proposing to use. So regardless of the
20 that there' s no doubt as to what we' re doing. 20 results, whether they are up or down or
21 WEe'll have the data set cleaned up by the end 21 whatever the case was, there is no statistical
22 of 2003. We'll have the appropriate modelsin 22 reason not to use the long-term average, the
23 placein 2004. Sowewill just carry on, on 23 whole data set as proposed, and the bottom
24 that basis, and the suggestion is starting at 24 lineisthat if it'sup or down, | won't say
25 1950. 25 it'sirrelevant, it’s of aconcern, but that
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1 MR.HAYNES: 1 believe, of 2003.
2 isthe best average, the best number that we 2 Q. Okay. Maybeyou could start by explaining to
3 can provide and that’sthe one that we will 3 uswhat isinvolved in this issue and if you
4 propose to adopt regardless of outcome. 4 want, we can start by having alook at 1c-194.
5 Q. But whether weall agree that it's best or 5 A.Yes
6 not, or whether the 30-year moving average is 6 Q. Perhapsyou can start by just explaining what
7 best, it's hard to determine until you’ ve got 7 was being donewith this Interruptible B
8 the final data, hence my questions as to when 8 contract and then why Hydro has decided not to
9 that is going to be available and what that is 9 renew it?
10 going to look like through the model. Is 10 A. Attheparticular timewhen the contract was
11 there a name to the model that Hydro is going 11 entered, there was, | guess, the LOLH or LOLE
12 torun? Liketheseare computer simulation 12 calculations at the time, there was a number
13 models. Isthere aname? Can you tell usthe 13 of years difference between when we were going
14 - 14 to have a capacity problem versus an energy
15  A. There'sacouple namesthat come to mind, but 15 problem, and Hydro entered acontract with
16 I’'mnot certain. 1'm not certain exactly 16 Stephenvilleto alow them to request, ona
17 which model itis. 17 fairly short-term notice, that we would want
18 Q. Okay. All right. Let me turnto adlightly 18 them to curtail load, in the order of 46
19 different topic now and that is the 19 megawatts, and there was some limitations on
20 Interruptible B issue. This deals with 20 the--basically it was for four months ayear
21 Abitibi in Stephenville. And | takeit Hydro 21 that we could do that and there was a
22 proposes to discontinue or not to renew that 22 limitation on the number of times we could do
23 Interruptible B credit? 23 it, and so on.
24  A.Thecontract expiredlast March, soit was 24 Q. Okay.
25 signed in 1993 and expired at March 31st, | 25 A.ltbasically would affect--it would give us
Page 51 Page 52
1 some capacity, peaking capacity, if you will, 1 future, in this particular point in time. The
2 at aspecified cost. 2 capacity deficit and the energy deficit are
3 Q Andif wejust go to NP-136 for amoment, the 3 coming together within ayear or so of each
4 maximum capacity was 46,000 kilowatts or 46 4 other and there’s ample timeto plan anext
5 megawatts, up to 25 times ayear, for four 5 source or hew source of supply to meet those
6 months, December to March, which would be the 6 needs.
7 winter peak potential season, at $28.20 a 7 Q. Sowouldit befair to say then from Hydro's
8 kilowatt? 8 perspective, the current value to Hydro of
9 A. That'scorrect. 9 being able to take that 46 megawatts of peak
10 Q. Okay. Now if we just flip back to 1C-194 and 10 off the system because you got lots of
11 explain to the Board why Hydro has decided not |11 capacity, is currently zero? Isof no value
12 to renew this. 12 to you?
13  A.Basicadly, we had built generation with 13 A.It'snot of significant value at thispoint in
14 Granite Canal and two NUGS contracts and also, 14 time, in the short term, no. Y ou know, if the
15 obviously, the load shape and so on, you know, 15 situation changes and we get into a case where
16 other factors cometogether to change that. 16 we havea three, four, five-year variance
17 But in our forecast right now, we have ample 17 between capacity and next source, it may be
18 capacity. We are meeting our reserve criteria 18 something that we would want to revisit with
19 of 16 percent. In fact, we are above that, as 19 Abitibi or others.
20 you do when you built any new plant, andwedo |20 Q. Right, but as welooked at Table 8, thatis
21 not see any need to consider and Interruptible 21 not the case for any of the--that’s page, |
22 B type contract at the present time, and based 22 think, 37 again, Mr. O’ Reilly, for any of the
23 onthe current load forecast, current load 23 period out to 20127
24 shape and the factorsthat drivethat, we 24  A.No, that table excluded the 40, the
25 don’'t see any reason to enter thatin the 25 Interruptible B contract.
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1 KELLY,Q.C: 1 not merit pursing that.
2 Q. Yes, it excludesthe Interruptible B, so 2 Q Andif welook at NP-138, | take it if you had
3 without Interruptible B in, you will not have 3 a capacity deficit, then that’ s something that
4 asituation where capacity is exceeding the 4 you would start to look at again?
5 energy requirement all the way out to 20117 5 A. Astheanswer says, we will consider any and
6 A.That'scorrect. 6 al options that are availableto meet our
7 Q. Sois it Hydro'sposition that within the 7 criteria.
8 current foreseeable planning horizon that we 8 Q.lsthere any sort of principlethat Hydro
9 talked yesterday about, the next source of 9 would apply in terms of ng the value of
10 generation will add both energy and capacity, 10 an Interruptible contract to avoid or defer
11 that within the entire planning horizon that 11 new generation in the future? Like how does
12 you can foresee, this 46 megawatts of peak 12 Hydro approach that?
13 reduction will have no value? 13 A. Canyou repeat that question please?
14  A.Based on the present assumptions regarding 14 Q. Yousay right now, likeinthe foreseeable
15 load forecast, |load shape, et cetera, there's 15 time period, there's no value to an
16 no merit to pursuing an Interruptible B 16 Interruptible contract to be able to take peak
17 contract. 17 off the system. How did you cometo that
18 Q. Okay. | takeit, because of that answer, if 18 decision? Is thereany kind of an analysis
19 you look at NP-139, Hydro has not investigated 19 that you do to determine what the valueis?
20 other opportunities for Interruptible B; in 20 How did you get to zero value?
21 other words, other opportunities to take peak 21 A. Primarily it'sacost consideration, you know,
22 off the system? 22 with the construction of Granite Canal and the
23 A. No, we have not. We have not identified it as 23 entering of the two Power Purchase Agreements
24 aneed at this point in time. There' s no--our 24 with the Corner Brook Pulp & Paper and
25 load forecast and our calculations to date do 25 Exploits River Hydro Partnership, we have
Page 55 Page 56
1 ample capacity and energy to meet the short 1 200,000 customers would be quite different.
2 term or the foreseeable needs until 29--2011 2 The "bang for the buck" if you will isin the
3 and it samatter of cost. There' sno basis 3 larger customer base.
4 in cost to actualy enter into agreement for 4 Q. If--when you talked about the Rural operations
5 capacity that we do not need to meet the 5 yesterday, with Mr. Browne, you said that when
6 criteria of. 6 you get to a capacity constraint on your Rural
7 (10:17 am.) 7 system, at that point intime you look at
8 Q. Youtalked alittle bit with Mr. Browne about 8 whether Demand Side Management--whether
9 Demand Side Management, and | takeit from 9 there'sany viable optionsthere. Do you
10 your answersto him, that Hydro, at least in 10 remember that evidence?
1 terms of anything on the Interconnected 11 A.Yes, most of that activity is directed to the
12 system, hasno plans todo anything with 12 Isolated Diesel Systems where the marginal
13 Demand Side Management in termsof paying 13 cost is extremely high, compared to our
14 people to do things differently? 14 returns.
15  A. No, wedo not, but | would suggest--sorry, | 15 Q. Here'sacouple of questions that kind of flow
16 shouldn’'t suggest, | should add that the 16 out of it. Why do you wait until you get to
17 biggest opportunity for some of that would be 17 the capacity constraint to look at that?
18 with Newfoundland Power’s customers, which 18  A. Becausethat’swhat spurs capital investment
19 vastly overwhelm the number of customers that 19 in new plant or new transformers or whatever.
20 Newfoundland Hydro has. 20 We looked at that in our capital proposal for
21 Q. Okay, but if Hydro thinks that thereis some 21 the addition of atransformer in Goose Bay,
22 benefit in doing it, | take it you would do it 22 for instance, which is an Interconnected
23 with your customers as well, would you not? 23 Labrador, we looked at the opportunities and
24  A. Thegainsof Newfoundland Hydro'stwenty-odd 24 basically there were none identified that
25 thousand customers versus Newfoundland Power's 25 would be economic. It’'s based on dollars and
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1 MR. HAYNES: 1 factor that you would look at; in other words,
2 cents. What isthe most economic - 2 if you're going to put in--Hydro’s had
3 Q. Sountil you get to that capacity constraint, 3 programs, for example, in some of these places
4 it's essentially your position it’s not worth 4 to put in low energy fluorescent bulbs,
5 doing, isthat the bottom line? 5 correct?
6 A.ldon'tthink that’sthe bottom line on the 6 A. That'sone of the things that was donein some
7 larger Interconnected System, but certainly in 7 aress.
8 the Isolated Diesel areas, that’s the approach 8 Q. Andl takeitthat indoing that, you made
9 that we've taken because there are so many 9 some kind of marginal cost analysis of what is
10 different systems and there are so many 10 the cost of doing--spending this money now to
11 variables. 11 do that, versus spending money now to add a
12 Q. Okay, andyou'd havetolook at that system 12 generation capacity in some fashion?
13 then and the factor that you said you looked 13 A. Generdly, yes.
14 at was, well what would be the marginal cost 14 Q. That’s how you would go about doing it?
15 of doing it? 15 A.That's how we've done itin the Isolated
16  A. | should add too that in the Isolated Diesel 16 Diesel areas.
17 areas, the penetration of electric heat is 17 Q. Okay. Has Hydro performed any kind of
18 nowhere near what it isin the Interconnected 18 marginal cost analysis on the Island
19 areas, particularly on the ISland. And one of 19 Interconnected System?
20 the principles, | guess, or one of the things 20  A.Not of late, no, that was quite a number of
21 on Demand Side Management was that electric |21 years ago it was done.
22 heat and hot-water heating would be the two 22 Q.| think thelast onewas done about 19847
23 major contributing factors to potential 23 Does that sound about right?
24 savings. 24 A. That’s sounds correct.
25 Q. But the marginal cost, you told us, isthe 25 Q. Okay, would you agree with me that before you
Page 59 Page 60
1 would want to--especially in the circumstances 1 had about the Rural system. If,in fact,
2 which you have just described about the 2 let’stake apotential project, let's take
3 capacity that the system has, the fact that 3 water heater controls that you’ re going to try
4 your Interruptible B has currently no value, 4 to put in place to take something off of peak,
5 before you would engage in some of these 5 and we just had this discussion about the
6 Demand Side Management things, would you not 6 capacity that your system has got, the lack of
7 need to do a margina cost anaysis to 7 value, asyou seeit, intaking 46 megawatts
8 determine what, if any, valueyou would get 8 off a peak. If youwere toputin heater
9 out of it? 9 controls so that for all the customers, so
10 A.ldon't think you--it would requireto do 10 that the electric hot water heater no longer
11 that, | mean, we're not talking about a 11 comes on at 5:00, it's going to be postponed
12 marginal cost system, we'retalking about a 12 until 8:00 at night, would you not need to
13 marginal cost base. If we're all paying 13 analyze at what point intimethat becomes
14 margina cost, we would definitely over earn, 14 cost effective? Especialy since right now
15 so | think the data that was generated in 1984 15 your system has adequate capacity to meet the
16 isused and useful, and | don't think the lack 16 peak?
17 of a current Marginal Cost Study precludes 17 A. Our system has adequate capacity to meet the
18 continuing, you know, entering that exercise 18 peak right now, but | think if you were, you
19 or pursing a Demand Side Management or demand 19 know, asyou go down the DsM, demand energy
20 energy rates. | don't think that is an 20 rate that what you're going to do isyou're
21 absolute necessity to proceed. 21 going to increase the--or have effects over a
22 Q.Okay. Let'sjusttake youtoNP-167 for a 22 period of time. They're not goingto be
23 moment and the answer at 167 isthat bsm 23 instantaneous with respect to the planning
24 shouldn’'t be evaluated on amargina cost 24 horizon, but you may improve the load factor
25 basis, in fact, that's just the discussion we 25 of the Newfoundland Power load and so on. So
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1 MR. HAYNES: 1 A.No, we have not studied specifically
2 it'snot a short-term fix, it's basicaly a 2 Newfoundland Power’'s rate structure, but |
3 longer term moulding the load growth and, you 3 would think that--I would assume that
4 know, the demand energy characteristics of the 4 Newfoundland Power, if demand energy rate
5 system over a period of time. Y ou would never 5 happensin the short term, that they would
6 see something--the outcome is going to affect 6 look at their rate structure and propose a
7 usin one year, but you will seeit over a 7 rate structure that coverstheir particular
8 period of years, that’ s the theory. 8 concerns.
9 Q. Explain to me how you square that answer with 9 Q. Butdoyouhaveany sensg, if thereisto be
10 the fact that Hydro doesn’t seeany valuein 10 some benefit out of this to the system, then
11 taking 46 megawatts off of peak with 11 in what way does Hydro suggest that
12 Interruptible B? 12 Newfoundland Power’ s rate structure should be
13 A. Thelnterruptible B does not actually remove 13 modified? Have you addressed that question at
14 very much energy. It'smoreof a-it wasa 14 al, Mr. Haynes?
15 short-term thing to get over a capacity 15  A. |l personaly have not had any involvement in
16 problem. | think that if you have ademand 16 that, but you know, we do have Stone and
17 energy rate and however Newfoundland Power |17 Webster and the Rates Department who may be
18 were to choose to change their rate structure 18 able to shed some light on what other
19 toreflect that, that you will impact the 19 jurisdictions do.
20 overall energy requirements of the Province 20 Q. Infact, if we put up PUB-148 for amoment, in
21 over a period of time. And| think that’s 21 fact the Board s staff put the question of
22 where thegain would be, and it's fairly 22 assuming you were an integrated utility, would
23 accepted. 23 Hydro have employed a different strategy over
24 Q.Haveyou studied Newfoundland Power’s rate |24 the past decade, to pass through a demand
25 structure? 25 price signal? And the answer, essentidly, is
Page 63 Page 64
1 due to the absence of either the experience of 1 get organized here. I'dliketo go next to
2 a hypothetical utility or data to support an 2 look at a couple of expense items, Mr. Haynes.
3 aternative, no different strategy can be 3 A Okay.
4 surmised. So | takeit, not only have you not 4 Q. Can| take you to Schedule 6 of your report?
5 studied it, but nobody in Hydro has studied 5 A Yes
6 the issue? 6 Q. Bear with mefor onesecond. Now I'd liketo
7  A.Not of late, from that point of view. There 7 goto the salary line here, and | just want to
8 was alot of discussion in the 1990 hearings 8 understand, first of all, how thisworks. If
9 with Mr. Brunneau or Dr. Brunneau and so on, 9 wego to line 4, you've got something called
10 who were quite adamant on the demand energy |10 "permanent salaries’ and you seeif you go
11 rate and the fact that they would, 11 across that to 2004 forecast, it’ s forecast to
12 Newfoundland Power would need theright signal |12 be 18.47 million?
13 from Newfoundland Hydro to makethat happen. |13 A. Yes.
14 And | have to admit that | am not--cannot shed 14 Q. Seethat line?
15 much light on their rate structure and so on. 15 A.Yes
16 That would be more Mr. Banfield'sand Mr. 16 Q. Now, if | could start with permanent salaries,
17 Greneman’s - 17 what happened to the concept of FTE's and
18 Q. But you have shed agood bit of light on how 18 where do the temporariesfit into this table?
19 the demand and energy characteristics of the 19 A. We had changed that all salaries for permanent
20 system have changed since 1990 to the current 20 and temporary employees are now included on
21 date? 21 line 4.
22 A. There’' s been some change in load factor, yes, 22 Q. Sothat line, even though it says "permanent”
23 overall. 23 IS-
24 Q. Let'smovefrom that to adightly different 24 A.lsatotal.
25 topic, just bear with me for amoment while 25 Q.lsatota?
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1 MR. HAYNES: 1 as Holyrood where you have amandatory shift
2 A Yes 2 complement for steam plant operators and so
3 Q. Okay. And with the capital projects completed 3 on.
4 and notice asyou come acrossthe overtime 4 . But with Granite Canal finished, why is
5 line, you still got amillion, four hundred 5 overtime at one million four seventy-five only
6 and seventy-five thousand in overtime, and if 6 about $200,000.00 |ess than the total overtime
7 you go back to 2002, that’snot radically 7 for 2002, or am | not reading this correctly
8 different than the 2002 actuals in which there 8 in some fashion?
9 was a substantial amount of overtime that was, 9 . As| mentioned to Mr. Browne yesterday, that
10 in fact, capitalized. I’m wondering if you 10 we never had a big contingent of people
11 can help us understand the reason for that? 11 dedicated on afulltime basis to Granite
12 (10:30 am.) 12 Canal, therewere probably five fulltime.
13 A.Thereason for that in the sense that each 13 Most of those particular employees are not
14 year that we are actually undertaking capital 14 digiblefor overtime. They basically are
15 projects, any overtime worked by our 15 paid an alowancein lieu, whichis pretty
16 employees, our employeesthat they actually 16 standard practice for our engineering staff,
17 work overtime on a capital project, is charged 17 most of our engineers do not actually get paid
18 to the project as a part of that, so - 18 overtime. They get an allowancein lieu of,
19 Q. Yes, but those capital projects are 19 so you know, some of the overtime that would
20 essentially now over, are they not? 20 be associated with the Granite Canal in 2003,
21 A.Oh no, there are dtill ongoing capita 21 would be from our operations people who were
22 projects, | mean, Granite Canal is done but 22 at the site there, asthey are today, doing
23 there are other projects that may require 23 the various things until it’s signed off.
24 overtime and there isaconsiderable bit of 24 Q. Attheend of 2002, can you tell me how many
25 overtime in some of our operating areas, such 25 of the permanent positions, as shown therein
Page 67 Page 68
1 your department, were vacant? 1 targets? Just explain that, what does that
2 A.In2002? 2 mean?
3 Q. Doyou have that information? 3 . For the last number of years, we have included
4  A.l would suggest it was probably eight to nine 4 approximately--from a corporate level,
5 positions were actually vacant in Production 5 approximately amillion dollars ayear in
6 Division. 6 vacancy reduction which basically looks at
7 Q. Eight to nine were vacant in the Production 7 the--we do our budget based on full complement
8 Division? 8 and at the bottom of or at theend of the
9 A.Lessthan ten. 9 expense withinthe salaries, weinclude a
10 Q. Okay, well ninewould beless thanten. Are 10 number for vacancy reduction. It reflects the
11 they in any particular department or spread 11 time lag between somebody leaving a position
12 throughout all six departments; in other 12 and somebody being hired into it. Depending
13 words, isthere any particular pattern or 13 onwhen somebody leaves, we may leave that
14 reason? 14 position for a number of months before we
15  A. Therewere--they’re spread over various areas, 15 rehire because it’ s at the end of the season,
16 but primarily typically because of the numbers 16 whereby, you know, we may feel that we need
17 of people that are in the departments, the 17 the position on a fulltime basis, but thereis
18 largest number would have been probably in 18 an opportunity to escape for several months or
19 Hydro generation and in thermal generation. 19 two or three months until we refill because
20 They typically usualy are the largest number 20 it'sin alow-maintenance period or whatever.
21 and when we do have a vacancy, we usually--to 21 So those are managed on a department basis.
22 meet our vacancy reduction targets, we usually 22 Each department has that alocation of
23 stagger, rehire and review the position 23 anticipated savings because of vacancies.
24 wherever it's need and so on. 24 Q. And | understand you have a policy of when a
25 Q. Sojust explain how that works, to meet your 25 position becomes vacated that you look at
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1 KELLY,Q.C: 1 departments, we will look at, you know, we've
2 whether there can be some reorganization to 2 donethat consistently, looking at merging
3 eliminate that position? 3 departments and so on.
4  A.Wereview each--each permanent position that’s 4 Q. And what about the technological change?
5 vacated has to be approved before it’sfilled 5 Where haveyou reduced your technological
6 and we look at whether the job could be done 6 changein your divisions?
7 by others, whether it could be moved to 7 A.Maybean examplewould be most appropriate.
8 another location. We look a any 8 In Holyrood we obviously operate under the
9 opportunities to do that, as they become 9 Boiler and Pressure Vessel Act of the Province
10 vacant and some any time. 10 and in our previous license, there were more
11 Q. Can| take you to your testimony on this at 11 or less dictated how many operators we had to
12 page 14 at lines 9 to 11? And you say at line 12 have on shift to look after that major steam
13 9 there, talking about the 6 percent, "this 13 plant which isbasically the biggest steam
14 reduction was achieved by various means, 14 system in the Province. And we had, obviously
15 including reviewing vacated positions and the 15 we had put in technology over the yearsto
16 operational needs of our plants through 16 provide the operator more information and what
17 technological change." Now, thereare two 17 we had done iswe had actually reduced the on
18 components, | take it when a position becomes 18 shift personnel in Holyrood by one operator in
19 vacant, you look at reorganization around that 19 that time frame, which accounted for some of
20 position? That’sthe first one. 20 that reduction. So we had gone from, |
21 A.Welook at the dutiesthat are done, if they 21 believe, six or seven--six operators on shift,
22 can be done by others, they can spread among 22 down to five, plus the supervisor.
23 another group or whatever, it's not 23 Q. Andsothat’sin your thermal department?
24 necessarily quote, unquote, capital load 24 A.That'sinthe thermal department.
25 reorganization, but we will look at the 25 Q. Are there examples in any of the other
Page 71 Page 72
1 departments that come to mind? 1 A.They'renot all the same positions, but there
2 A.Yes inthels&T wherewe cando a lot more 2 are approximately ten positions vacant today.
3 troubleshooting on aperson’s pcand their 3 Q. AsinOctober?
4 desktop by, if you will, I'm sureit’s not the 4 A Yes
5 right word, by remote control, that the client 5 Q. I'mjusttrying to get thetimeframeright,
6 support analyst or the help desk in St. John's 6 okay. Now, can | take you to NP-9 and page 2
7 can actually take over somebody’s PcC, for 7 of 6, and these are the number of permanent
8 instancein Port Saunders, and troubleshoot 8 positions, if | follow it correctly, in your
9 and fix things, as opposed to having people 9 division, up to August of '03?
10 out there. That was one of the reasonswe 10 A.Yes
11 reduced a number of temporary client 11 Q. Okay, now what I'd liketo do, isl’d liketo
12 supportive systems that we had. 12 look through this with you, because the
13 Q. And when did that take place? 13 departments have changed alittle bit over the
14 A. That took placein early 2002, | believe. 14 years. Let's go over, first of dl, tothe
15 Q. 20027 15 onethat’s called "Generation Engineering and
16 A.Yes 16 Telecontrol”, which has entries for only ™ 97
17 Q. Okay, how many positions are vacant in your 17 and '98. Do you seethat?
18 division throughout your departments as of the 18 A.Yes
19 end of August, 20037 19 Q. Okay, and there were, at the end of ' 98, there
20 A.Thereare, at the moment, | believe there are 20 were 65 peoplein that department. And if we
21 ten positions vacant, as we speak. 21 look at the columns, as we tried to figure out
22 Q. Sothere were somewhat lessthan ten at the 22 wherethat 65 went, 20 seemed to have gone
23 end of 2002 and they are currently about ten-- 23 over to the next column, which is"Generation
24 there areten positions vacant as of today, 24 Engineering"?
25 October? 25  A.Yes.
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1 KELLY, Q.C: 1 finance, so if we add thosein, we'd have 277
2 Q. And 12 seem to have gone over to "Generation 2 plus 36, would giveus 313. Weendupat 301
3 Operations', you go from 5 up to 177? 3 for anet reduction of 12?
4 A Yes 4 A Well therewere other changesthrough the
5 Q. And the balance went over to "Telecontrol and 5 period of time, the economic anayss
6 DMS', the next column over? 6 department also moved over to system planning.
7 A.That'sbasicaly correct, yes. 7 When you went from 10 to 13, there were three
8 Q. Basicaly correct. 8 individuals transferred a so from the finance
9 A .Uh-hm. 9 department at the time.
10 Q. Andin themeantime, inthat sameyear of 10 Q. Soyou had three more that came in there?
11 1999, you had 36 people comein from outside 11 A Yes
12 your department in 1S&T? In fact, they were 12 Q. Okay. Andthey cameinin 1999?
13 transferred from your finance department, 13 A.They cameinin 1999, yes.
14 weren't they? 14 Q. Soif | addon thosethree more, I'd get
15 A.Yes 15 essentially 15 in terms of reduction, in your
16 Q. Soif welook at your IS&T column in 1999, you 16 total complement? I'm just trying to get an
17 have 36 that comein from finance and if we 17 order of magnitude here, 12, 15, that’s pretty
18 just quickly go over to page 5 of 6, you'll 18 close for the purposes | want to have alook
19 see’97 and ' 98, they got this Mmisof 36 and 19 at here. Are those the main drivers?
20 then it dropsto zero in 1999. 20 A.Based on the way you've done it, yes, | mean,
21 A.Yes. 21 | don’t take exception to your 315. There are
22 Q. Soif youjust go back to page 2 of 6 now, so 22 other changes, obviously, over time, depending
23 in the--if we goto thetotal, you start in 23 on the needs of the Corporation, the needs of
24 1997 with 277 personnel and you end up with 24 different areas.
25 301, but you added 36 people that came in from 25 Q. Right.
Page 75 Page 76
1 A. Hydro Generation went up by three, so there 1 in, 70, and then you end up at 67, some small
2 are severa, you know, it isvery difficult to 2 changethere. But theonly department with
3 go back and try to rebuild the history because 3 any, what | could call significant changesis
4 we have not kept it, soit’s out best attempt 4 in your thermal generation. Out of 12 to 15
5 to do that. 5 in total, 15 of them seemto be thermal
6 Q. Okay, but here's the point that | wanted to 6 generation changes and I'm wondering if you
7 try to come to, when we look at those and we 7 could explain why, since 1997, there have been
8 go toeach of these columns through your 8 no significant changesin any of the other
9 generation operations, it started with 5, you 9 departments?
10 had 12 come over, which is 17 and essentially 10 A Well, | guess we are responding to the
11 you end up with 17, so there’ s no significant 11 maintenance requirements of the system and the
12 change in the generation operations 12 information requirements of the system.
13 department? 13 Holyrood presented itself as having more
14  A.No. 14 opportunities for reduction based on a number
15 Q. IntheHydro generation, you start with 85, 15 of thermal plant operators that we had and
16 you end up with 86, so you’ re up plus one, no 16 based on the merging of some departments. And
17 significant changethere. Inthe thermal 17 thereis-1 mean, we have looked at all these
18 generation though, you're at 113 and you end 18 departments from the point of view of need and
19 up with 99, for atotal reduction there of 14. 19 continue to do that and have, in our vacancy
20 A.Yes 20 reduction targets, will continueto look at
21 Q.And wecan do that exerciseall the way 21 that and the additional one and a half million
22 across, generation engineering from '99 onis 22 dollars that we put in there for 2004. We are
23 still 20, and your systems planning starts at 23 doing processreview. We're looking at many
24 10, ends up at 12, so there'sasmall change 24 processes and there may be changes, depending
25 there of 2. Your 1S&T, you' ve got some coming 25 on what the work demands are. But Holyrood
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1 MR. HAYNES: 1 the hydro generation you have people spread
2 obviously, asyou mentioned, wasthe most 2 over from Paradise River to Cat Arm, Hind's
3 significant change to date. 3 Lake, Granite Canal. So, there’s more travel
4 Q. But you have not quite as many, but almost as 4 time, there’s more--1 won't necessarily say
5 many people inthe hydro generation, yet 5 lost time, but it’s obviously not as desirable
6 there' s no--there don’t seem to have been any 6 that they’re all in one specific plant where
7 efficiencies achieved in terms of reductions 7 you could have a better opportunity to address
8 in your hydro complement. 8 some cost saving measures. But with
9 A.No,not at many ina direct number sense, 9 distributed generation, it's a bit more
10 however we did have Granite Canal in 2003 and 10 difficult to nail down the significant change
11 we are not adding any additional operating 11 that we' ve achieved in Holyrood.
12 people or engineering support peopleto look 12 (10:45am.)
13 after that plant. 13 Q. Canl show you, from the 2001 General Rate
14 Q. Should that plant be essentially automated? 14 Application, NP-31 and we' ve already provided
15 A . Well,as isCat Arm and Hind's Lake there, 15 you with a copy and the clerk will distribute
16 except for Bay d’ Espoir. 16 thisone.
17 Q. Yes 17 MS. NEWMAN:
18 A.They'reby and large all operated, but they 18 Q. Thiswill be Information Item number 14.
19 al require, obviously, resourcesto do. | 19 KELLY, Q.C.
20 would also add that one of the key differences 20 Q. I’msorry, number 14?
21 in hydro generation and thermal generation is 21 MS.NEWMAN:
22 that basically the thermal generation people 2 Q. Yes.
23 are at onefacility. So, basically you have 23 KELLY, Q.C.
24 99 people who work at thethermal plantin 24 Q. And this deals with the Haddon Jackson
25 Holyrood, of which 30 or so are operators. At 25 benchmarking study, Mr. Haynes. Are you
Page 79 Page 80
1 familiar with this? 1 segment was poorer than expected with costs of
2 A Yes |lam. 2 about 28 percent above average'. And then
3 Q. Okay. I'd liketotake youto a couple of 3 there were anumber of recommendations for
4 pages of this, if you would come over with me 4 improvement on the bottom, including the first
5 to page 21 and thiswas reviewed with the 5 one there, reducing layers of management, et
6 Board in Hydro's 2001, at page 12 under 6 cetera. And thefinal--1'll take you over to
7 Performance, "operation costs for the Bay 7 the next page which iswwe&D, what is Wwé&D
8 d’'Espoir station group was poorer that 8 Maintenance?
9 expected, exceeding expected costs by about 50 9 A Water Works and Dams.
10 percent”. And down on the bottom, there are 10 Q. Water Works and Dams, maintenance costs for
11 improvement opportunities. The Bay d’ Espoir 11 both Bay d' Espoir station group and blank were
12 station group preparesto have opportunities 12 higher than average. Bay d Espoir costs were
13 for improvement. Other leaders have shown 13 about 55 percent higher. And again, down on
14 that elimination of routine technical 14 the bottom, the recommendations for
15 operators staffing at automated remote 15 improvement opportunities included flatter
16 facilities will take full advantage of station 16 organization, flexible workforce, reduced
17 automation to reduce costs. And then you go 17 maintenance strategies, in favour of periodic
18 inthe next one, "if they aregoingto be 18 investment may offer opportunities here as
19 operators present, then they could be involved 19 well. And I’m wondering if you can explain to
20 in doing routine work™. So, that was one area 20 us what has taken place since the 2001 hearing
21 that was highlighted. If wegoto the next 21 with respect to this?
22 page, I'll give you these all together and get 22 .Twill. I’d like to just comment on a couple
23 you to comment. Under Plant Maintenance, "the |23 of things on the Haddon Jackson report. First
24 Bay d Espoir station group cost performance in 24 of al, just toput itin context of the
25 the small, medium, less than 45 year old 25 approach that was taken by Newfoundland Hydro
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1 MR.HAYNES: 1 for reducing that.

2 at the time, when we undertook this particular 2 I'd dso like to take you to page 6 of

3 project with Haddon Jackson to do a benchmark 3 the report whereby we have a functioning cost

4 study of the hydro facilities, we treated all 4 per megawatt hour. Andif youlook at that

5 of hydro generation as one station. And when 5 particular chart, and | guess that’s not

6 you go throughthe main body of the large 6 available electronically, on page 6, the

7 report that was acompanionto this report. 7 averageisroughly about, | guess, alittle

8 Most other utilitiesand | will just mention a 8 lessthan eight dollars per megawatt hour.

9 few, Bc Hydro had 10 stations there and they 9 And there’' san average line drawn across the
10 actually undertook 10 separate reviews. They 10 page and of al the plants that were
1 didn't look at, youknow, Peace River, et 1 considered which were some two or three
12 cetera, et cetera, as being one consolidated 12 hundred, Bay d' Espoir is indicated on that
13 thing. What we had donein the interest, | 13 chart, you know, lessthan average cost when
14 guess, of saving money to some degree was we 14 it's prepared in that context. So, while
15 had lumped Bay d’ Espoir, Hind's Lake, Cat Arm, 15 there are suggestionsin the report, | don’t
16 Upper Salmon, Paradise River and called it one 16 think it's damming from the point of view of
17 plant. So, you obviously get some 17 our overall performance. And if you turn the
18 difficultiesin comparing apples and apples 18 page to page seven, they’ve separated medium
19 when you consider the travel requirements and 19 hydro plants which is aso the way Bay
20 the distance between those. Bc Hydro had 10 20 d’ Espoir was treated. Andthat particular
21 different evaluations done. Great L akes Power 21 chart onthe topright hand page, we are
22 had 4. Hydro Quebec had 8 and soon. So, 22 again, lessthan average of all those factors.
23 there’ssome context required. It doesn’t 23 So, | just try to put that into context that
24 mean that there's not useful information 24 whilethere are certain areas of the Haddon
25 provided by Haddon Jackson with opportunities 25 Jackson report we are higher and there are

Page 83 Page 84

1 certain areas where we are lower, but on the 1 field for all these different plants. Some

2 overal, you know, wedidn't fare that bad. 2 run of theriver plantswith one dam, you

3 But there are recommendations in that 3 know, some other plants that have multiple

4 particular report that certainly have merit 4 facilities and we do have multiple facilities.

5 and even though, it was not done, the review 5 o, there' s some caution there. When you get

6 of the benchmarking was not donein anideal 6 down to other parts of the report, you know,

7 way, in theinterest of reducing costs, it 7 with specific recommendations, we have done

8 certainly was-—-it certainly gave us some 8 several thingsthat arein line, if you will,

9 general guidelines, someindication of where 9 with some of the Haddon Jackson commentary
10 we have some potential to save money. 10 that wedid receive. We, asl mentioned
11 So, if wegoto page 1l and thefocus 11 aready, we'veincorporated Granite Canal,
12 here for medium hydro, these are the split of 12 another plant, another unit into the Bay
13 costs between thevarious areas. Medium 13 d’ Espoir operation with no increase in
14 hydro, that iswhere Bay d'Espoiris. So, 14 personnel in the operations or the engineering
15 thisisthe average for about that particular 15 support group. We have, in the last contract
16 segment, medium hydro. And then if you turn 16 negotiations, changed the role of remote plant
17 the pageto page 12, you have Bay d’ Espoir. 17 operator to do more maintenance. At one
18 So, you know, there are some, you know, 18 particular time, they were basically operators
19 support costs, they’re ten percent different, 19 and pretty well, each and every deficiencies
20 building and grounds maintenanceis pretty 20 or problem that arose, required electricians,
21 well the same, dikesand dams, there's 11 21 mechanics or technicians to comefrom Bay
22 percent for that as Haddon Jackson did point 22 d’ Espoir or other placesto help. Right now
23 out. Wedo have quite abit of, you know-- 23 we are moving some of that trouble shoot
24 thisreport is benchmarking, looks at, tries 24 capability and repair capability within the
25 to put incontext and levelize the playing 25 remote plant operators capability for them to
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1 MR. HAYNES: 1 maintenance people to have someone there. We
2 do with less requirements from Bay d' Espoir. 2 have moved into the area of computerized
3 When we are into those particul ar areas doing 3 maintenance systems and in our current
4 overhaul maintenance work, the operator now 4 activitiesand business processreview, are
5 workswith that particular group. Whereas 5 looking at our work methods and so on. And we
6 before he would basically do isolations and 6 see from, we are expecting and anticipated
7 protection code things, but actually working 7 some improvements over time with that aswe
8 with the group would be avery, very minimal 8 progress down that route and have
9 thing. Right now that is changing as we move 9 incorporated someincrease in our vacancy
10 from a shift worker to aday worker. 10 reduction numbers to account for some
1 With respect to Paradise River whichisa 1 improvements. They may be personnel, they may
12 small remote plant, we haverelocated that 12 be anything, but the actual dollar savingsis
13 particular position. We do not have an 13 there.
14 operator in the Burin Peninsula area anymore. 14 One of the things too which was
15 That particular position is being relocate to 15 mentioned, | guess, by Mr. Kelly wasthat on
16 Bay d' Espoir and that isbeing done through 16 some of the remote plants, you would actually
17 the Bay d Espoir group. You know, the 17 remove--well, they didn’t say actually remove,
18 maintenance crews will, as they havefor a 18 but you would have less peoplein the area,
19 number--since day one, be dispatched from Bay 19 sort of thing, to do that. We don’t consider
20 d’ Espoir, but asa small plant, we do not see 20 that appropriate for Newfoundland Hydro. We
21 merit into maintaining a full time presence at 21 have taken that approachin Paradise River.
22 that particular plant. It's sufficiently 22 Wewould not take that approachin Granite
23 instrumented, there's sufficient information 23 Canal or Hind'sLake. We have a number of
24 going back tothe Energy Control Centre to 24 peoplein the Deer Lake areawho basicaly
25 alow them to dispatch people or call the 25 look after the day-to-day maintenance of
Page 87 Page 88
1 Hind's Lakesand Cat Arm. Because those 1 Q. After you got this report from Haddon Jackson,
2 particular plants are critical to our rolein 2 did Hydro do any internal study to see how it
3 providing, meeting our mandate, we do not 3 might reorganize the structure the Hydro
4 think it would be appropriateto take those 4 division or departmentin view of Haddon
5 people out of those areas. It'stoo far away, 5 Jackson’ s recommendations? Was there any kind
6 the time delays are too long, the plants are 6 of internal study done to look at this?
7 too important. On some smaller plants, for 7 . It was reviewed, but there wasno "forma
8 instance, at Snooksand Venam's, wedo not 8 review" in a sense of sitting down and
9 have people inthe area. Wehavea small 9 analysing each particular thing and writing a
10 contract with a caretaker, sort of thing, to 10 report. Thisreport obvioudly isin the hands
11 look after it, but that's a minor cost. 11 of the plant manager at Bay d’ Espoir and when
12 Paradise River, as |’ ve mentioned a couple of 12 we are making changes, see opportunities, it
13 times now, we've actually gone the other way. 13 isused to, | guess, to give us some guidance
14 We have made changesin our purchasing 14 on possible areas of improvement which, we've
15 and our goods and consumable things to waste 15 undertaken several.
16 lesstime, if you will, going to the warehouse 16 . But wasit only dealt with at the level of the
17 to pick up consumables as was mentioned a few 17 plant manager at Bay d'Espoir, as opposed to
18 daysago by Mr. Robertsand Mr. Wells. | 18 your level of vice president to look at how
19 don’'t recall now who. And we have, you know, 19 this department might be reorganized with, you
20 used purchasing cards, we have changed around 20 know, as aflatter management structure, et
21 that goods and services supply thing to better 21 cetera
22 accommodate the needs of the plantsto reduce 22 . The-
23 that particular effort. So, over aperiod of 23 .| take your point that, you know, Bay
24 time, we see making some gainson thisand 24 d’ Espoir, as you say, some of the caveats that
25 improving our record compared to others. 25 you' ve talked about, both Hydro’ s mandate and
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Page 89
1 KELLY, Q.C:

the Board's mandate is still the least cost
generation.

A. The organization structure at Bay d Espoir
basically, you know, when you look at it right
now, there's a plant manager, there’ s alabour
manager, an asset manager and their
supervisors and that’sit. Thereisno six or
seven rungs to the ladder, if you will, in the

Page 90

1 KELLY, QC.:

© 00 N O o~ WODN

Q. Thank you, Chair. Mr. Haynes, | just want to

finish up this discussion we were having about
NP-31from the previoushearing. And can |
takeyou to the October 10, 2001 transcript
at--discussion begins at page 2? It begins at
the bottom of page 2 with Ms. Butler asking
about NP-31. And if we go over to the top of
page 3 at line, approximately 50, 51, 52 Mr.

10 hydro plant area. So, | think the 10 Henderson is answering, and he says "We're
11 organization structure is reasonable flat now. 11 looking at our maintenance practices, our
12 | don’t think there’s alot of opportunities, 12 staffing levelsin different areas. We have
13 there maybe here and there, some, you know, a 13 not made--cometo any conclusion. We're just
14 couple of things hereand there, but there’s 14 basically at thispoint studying this report
15 no major organizational structural issue with 15 and we will be expecting to start implementing
16 the Bay d’ Espoir or the hydro generation area. 16 some changes asaresult of thisin the next
17 Q. Thiswould be an appropriate placeto break, 17 year or two." And down at the bottom of that
18 Mr. Chair. 18 page at lines98to 101 he makes asimilar
19 CHAIRMAN: 19 comment. And I'll take you over to page 4 to
20 Q. Thank you, Mr. Kelly, Mr. Haynes, we'll 20 line40. And Mr. Henderson says, "They are
21 reconvene at 11:30 am. Thank you. 21 being considered, as| mentioned, but there
22 (BREAK - 11:00 am.) 22 has been no action taken on these other than
23 (RESUME - 11:36 a.m.) 23 the fact that we are reviewing them with our
24 CHAIRMAN: 24 new vice-president in position." | take it
25 Q. Thank you. When you'reready, Mr. Kelly. 25 that would be you?
Page 91 Page 92
1 A Yes 1 Paradise River, relocating the operator to
2 Q."Thisis one of his itemsthat he has to 2 maximize the resources of thewhole. We've
3 address with the manager of hydro generation 3 changed the working conditions or the working
4 tolook at what of these we can implement.” 4 hours, if you will--not the hours, but the
5 And Ms. Butler says, or asks, "So there are no 5 assigned hours of the remote plant operators
6 potential savingsreflected in the test year 6 from a shift operation to a day shift
7 from any initiatives that may be taken from 7 operation to better employ their skills and
8 thisreport?' Mr. Henderson answers, "No." 8 abilities in the maintenance and operation of
9 And | takeit that as we looked at NP 9, that 9 those plants. So, even though there has not
10 there have, despitethis report, been no 10 been a reduction inthe complement at Bay
11 changes inthe staffing levelsat--in the 11 d Espoir, we have undertaken severa
12 hydro department at Newfoundland Hydro? 12 initiatives to improve that particular
13 A. There has been no specific staffing changesin 13 operating footprint, if you will, of Bay
14 the hydro department. | mean, there have been 14 d’ Espoir.
15 some--there have been increase in plant, as| 15 Q. Arethere any savings from the Haddon Jackson
16 mentioned. We added Granite Canal, whichwas |16 Report and any of what you've said been
17 obviously aconsideration. When we added 17 incorporated in the 2004 test year, and if so,
18 Granite Canal, there may have been a perceived 18 how much are those savings?
19 notion that we would increase staff. And that 19 .All the savings, | may be a little bit
20 was discussed thoroughly with management of 20 difficult to put anumber on someof the
21 hydro plant operations and we proceeded on the 21 initiatives that we did there, but if we go
22 basis there would be no increase in staff for 22 to, if we go to--excuse mefor asecond. If
23 Granite Canal. We have addressed other items 23 you go to NP-87, and this excludes the
24 that were in the Haddon Jackson Report which 24 discussion that Mr. Wellshad or Mr. Roberts
25 was, as again| mentioned, with respect to 25 had on the goods and services where we made
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1 MR. HAYNES: 1 facilitate that there. With respect to the

2 change to effect all these particular plants, 2 materials management on goods and services,

3 not only Bay d’ Espoir but other ones, but we 3 those things had been done. And al those

4 anticipated over time that we would save, on 4 savings are reflected in the 2004 test year.

5 page 103, about approximately $100,000 a year 5 And further, on a corporate level and--of

6 by more adequately employing the remote plant 6 which the production department has been

7 operators to do maintenance and to--and moving 7 assigned, | forget the number offhand, but

8 them from ashift operation to a day shift 8 it's readily available, the production

9 operation. At item No. 2 there was asmall 9 division has a so been tagged with, not a very
10 amount of money, but nevertheless, it's an 10 good choiceof words, $925,000in vacancy
11 activity that helps by relocating the plant 11 reduction as well as our share of the one and
12 operator position from Paradise River to Bay 12 ahalf million dollar corporate reduction that
13 d’ Espoir and that would also have been a 13 we anticipate over the ensuing period of time
14 factor in usnot actually hiring additional 14 with respect to business process review and
15 operators or maintenance personnel for one 15 things of that matter.
16 additional plant. You know, we have five 16 Q. How many of those vacancy--how many of those
17 major plants, now we have six, so we've taken 17 positions are vacant now in the hydro section?
18 on, you know, another machineand another 18 You told us overall there’s 10 vacant. How
19 maintenance activity with no increase in 19 many are in hydro?
20 staff. So there’sno dollar value, adollar 20  A.Just one second. At the present timein hydro
21 valuetagged to that, but it'sa definite 21 operations we have five vacancies.
22 saving and will reduce our per megawatt hour, 22 Q.And has it been looked--are you looking at
23 per megawatt cost, whichever way you want to 23 eiminating any of those five positions
24 measure it. These are the two primary ones on 24 permanently, or are they all going to be
25 asingle basisat Bay d’'Espoir which would 25 filled?

Page 95 Page 96

1 . All the positions are under review. Some of 1 being filled by temporary efforts and there

2 the changes--some of the positions are 2 are some--there were some--all the particular

3 actually maybe being partly done by temporary 3 activities of those particular people are

4 labour, depending on the particular role. 4 being reviewed, but we have not concluded that

5 When wego back to, | guess, an earlier 5 we can do without them at this point in time.

6 question this morning on organizational 6 Q. Okay. The need for operatorsfor Bay d' Espoir

7 structure, we did make an organizational 7 and whether that facility could be remotely

8 structure change at Bay d’ Espoir whenwemoved | 8 operated, has that been analyzed at all by

9 the operators who were now taking on more of a 9 Hydro in recent times with new technology,
10 maintenance role and operating role. We've 10 etcetera?
11 actually moved themto thelabour manager, 11 A. Notinrecent timesit has not been looked at.
12 which was kind of consistent with the approach 12 I think it was some number of yearsago. And
13 that Haddon Jackson had suggested and so on. 13 the Bay d’ Espoir plant has not been--it would
14 But al the five positionswill be under 14 require considerable capital and you will
15 review. 15 still need operators. But Bay d' Espoir plant
16 . But so half of your vacancies are in the hydro 16 right now ismanned 24 hoursaday with an
17 generation department which has not yet seen 17 operator.
18 decreases in complement. And while you say 18 Q. Has Hydro performed or do you intend to
19 they’re under review, can you give the Board 19 perform any kind of cost, benefit analysisto
20 any sense asto what Hydro’s plansare asto 20 look at that as apotential alternative to
21 whether you intend to eliminate some or all of 21 reduce complement?
22 those five positions? 22 A.Wehave not considered doing that for the
23 . We do not have any specific plans to eliminate 23 remote operation of Bay d'Espoir plant for a
24 any of those positions at this point in time. 24 few reasons. Primarily, one of the key roles
25 We arereviewing, as| mentioned. Some are 25 of the operators at the Bay d’ Espoir facility
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1 MR. HAYNES: 1 forward as being valid capital budget
2 isthat we do not have operators on shift at 2 proposals -
3 any of the other remote plants. The energy 3 Q. That'swhat | wastrying to get ahandle on as
4 control centre looks after the system, 4 toare you doing a cost, benefit analysis
5 dispatches units, can start, stop machines 5 study to determinewhether some of these
6 other than Holyrood and Bay d’' Espoir. But the 6 things are cost effective?
7 Bay d Espoir personnel do have afair number 7 A.We'renot looking at the hydro plant, per se.
8 of duties and roles with respect to the remote 8 We arelooking at other aspects of the hydro
9 plants. The energy control centre would not 9 plant operations such as some of the remote
10 be--they are dispatchers, they do not get into 10 structures up country.
11 plant operating specifics. They don’t, you 11 Q. Okay. When will those studies be completed?
12 know, go into the plant and turn on things 12 A. They will be completed late this year or early
13 withinthe plant. That isleft to the Bay 13 next year. That's anin house, a desktop
14 d’ Espoir operators who look at that for remote 14 study to see if there' smerit in continuing
15 plants, aswell, and do things like that. So 15 further.
16 we have no current plansto - 16 Q. Solate 03 or early 04?
17 Q. Automation is not being even analyzed? 17 A. That would be the time frame.
18  A. Not on the--it has not been for some time. We 18 Q. Okay. Canl ask youacouple of questions
19 have looked at automating certain aspects of 19 about maintenance? We've heard and Mr. Wells
20 our Bay d'Espoir hydro plant operations with 20 talked about reliability centred maintenance
21 respect to some up country structures. Some 21 and there's much discussion of that in the TRO
22 of that work isongoing now, but we do not 22 section, but less so in yours. Doesit apply
23 have any conclusive results to make changes. 23 in production or--and if so, what are the
24 But if they have changes are--if the changes 24 implications?
25 are economic to do, then wewould put them 25  A. It has some applicationsin production. We do
Page 99 Page 100
1 employ RCM at the gas turbine in Holyrood and 1 We are reviewing some potential applications
2 we are reviewing some RCM applicationsin the 2 for some subsystems in Holyrood -
3 Holyrood plant as such, certain systems and so 3 Q. YouhaveHolyrood -
4 on, not the whole plant but certain aspects 4  A.-wehavenot looked at it in whole for hydro
5 where there may be some redundancy. Inthe 5 -
6 Bay d Espoir hydro generation asa whole we 6 Q. If |take youto MP-277 which asks about
7 have not undertaken afull scale review and we 7 reliability centred maintenance and we go down
8 have some, we have somereservation about 8 through the answer, the answer covers
9 moving to a, you know, to the philosophy of 9 transmission, distribution, terminal stations,
10 full scale RCM approach primarily because some |10 diesel plants, gasturbines. And then at the
11 of the plants are remote and run into failure 11 end at page 3 of 3 there' s abreakdown of what
12 when you have the distance and so on and the 12 the million dollarsis. They al, at least on
13 potential of spill is-has to be weighed 13 first blush to me, appear to bein TRO. Am |
14 against RCM. Y ou know, we do--you know, there |14 missing something here?
15 are several maintenance tactics that you can 15 A.No. That's correct. That is a TRO
16 employ, RcM is but one, you know. And we do 16 initiative, and the gas turbine cost quota
17 computerize maintenance planning. We have 17 would be for the gas turbines that are
18 condition based monitoring for certain things, 18 maintained by TRO, being hardwoods in
19 but we have not--we have not pursued afull 19 Stephenville and Goose Bay.
20 RCM review for the hydro plant. We have some 20 Q. Arethere any reliability centred maintenance
21 reluctance and some doubts about whether it 21 savings in the production division?
22 would be really effective for that particular 22 A.Asl said, we have not reviewed it in dept for
23 - 23 Bay d'Espoir. We are reviewing it with
24 Q. lIsit being studied in your division? 24 respect to some systems in Holyrood and we
25  A.Not inthe hydro plant, per se, at the moment. 25 have employed it for the gas turbine at
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1 MR.HAYNES:
2 Holyrood, but I don’'t know what the savings
3 are offhand.
4 Q. Okay.
5 A.Sowearelooking at it with caution and where
6 you have a potential for spill, major damage,
7 it--my personal view, | guess, isthat on RCM,
8 | think there are lots of benefitsto RCM, but
9 you have to look very specifically at what

© 00 N o ok~ WODN P

Page 102
think that what we're doing right now is
consistent with most of the Canadian utilities
and we are striving to maintain those
reliability numbers. If you run to failure
and you, if over time affect our forced outage
rates, then you will affect our overall asset
performance and may affect timing of new
plant.

. But reliability centred maintenanceis not

10 particular facet of the operation you're 10 really intended to be arun to failure, isit,
11 looking at. On adistribution system where 11 surely not?
12 you have some many miles, theremay besome |12 A Itisoneaspect of RCM. It is one aspect of
13 merit to that and where you have staff who can 13 RCM.
14 ina reasonable timeframe return that to 14 Q. We'll explorethat perhaps alittle more with
15 service, but on ageneration side, caution is 15 Mr. Martin. Can | take you to ww-2, which is
16 required, from my perspective. 16 the July--sorry, June 30th quarterly report,
17 Q.ldon't get thesense you'reas "gung-ho" 17 to page 3 of that? A little bit--no. Should
18 about this as perhaps some of the other people 18 be page 3. | think you got to go alittle bit
19 - 19 further. Next page over, Mr. O’ Reilly. There
20  A.No, | havereservations about run to failure 20 we go. In the area dealing with net
21 on generating plant that may affect--excuse 21 operations, and there’ s a question that arises
22 me. That if you adopt that philosophy and 22 about the maintenance. There was a breakdown
23 embrace it, embrace it too much on generating 23 page that we had whichis U-1, | believe,
24 plant, you may affect the forced outage rates 24 which provides a breakdown of that. Perhaps
25 and therefore affect timing. You know, we 25 we could put that up? Yes, there we go. And
Page 103 Page 104
1 the systems equipment maintenance is down for 1 donein Holyrood, but the primary reasons for
2 Hydro generaly from7 million 8 in the 2 the large differencein the actual forecast,
3 forecast to 6 million 2. And I’'m wondering if 3 I'm sorry, theactual versus forecast is
4 you can shed any light on the reasons for that 4 primarily the delay in the vendor submitting
5 up to the end of June? 5 their bills and invoices to Newfoundland
6 A.Yes. Theprimary driver or the primary reason 6 Hydro.
7 for that ismostly timing, and particularly 7 Q. Okay. Now, | understandin 2003 there was a
8 with respect to our Hydro--I'm sorry, Holyrood 8 major turbine overhaul for unit No. 1 at
9 thermal plant. We basicaly have partner 9 Holyrood?
10 agreements in place with the, well, three 10 A.Yes, that iscorrect.
11 actual vendors, and one particular vendor is 11 Q. Without getting into a lot of technical
12 the work is being done but his timing of bills 12 detail, what’ sinvolved in that and would that
13 is good for us and bad for him, from my 13 improve the life of the unit?
14 perspective. He doesn't get hisbillsin on 14 A. Each year we do major overhauls of the boiler
15 time, but it’ s mostly timing delay. 15 and then--and we do aminor overhaul of the
16 Q. Isitthat thework is not done or that the - 16 turbines. Every six years, that’s the present
17  A.No, no. 17 practice, that we--which used to be four
18 Q.- that theinvoicing isnot in? 18 years, wedo amajor turbine overhaul, which
19 A.Theinvoicingis notin. Thework has been 19 means that you basically tear apart the
20 done. 20 turbine, you remove the rotor, you check all
21  Q.Oh, | see. Soit doesnot - 21 the blades for any damage or corrosion and you
22 A.It'sjust timing. 22 fix, youfix what's broken. It wouldn’t
23 Q.ltdoesnot reflect aquestion of timing of 23 necessarily belife extension, butif you
24 the performance of the actual maintenance? 24 didn’t do it, youwould definitely have a
25  A.No. Therewere some exceptional itemsto be 25 shortening of the useful life of the machine.
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Page 105

1 MR. HAYNES:

And, you know, we look for cracking on turbine
blades, which eventually may fail and we
replace those. We check the condition of the
generator, thewinding, and we--and often
timesweend up doing more work than we may
have had in the plan because of that, because
you're actually opening up something that
operates at 1000 degrees and 1000 Psi that you
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actually extending the useful life of the
asset, but | have no, | have no reason to
believe that we will not get another 20 plus,
30 years from the turbine itself.

Q. And what would have beentheorigina life
expectancy of the turbine?

A. Typically steam turbines are expected to
operate about 30 years. However, we do have
some other factorswhich affect our expected

10 haven’t seen for six years. 10 life, basically thefact that we do not
11 Q. Andthat takes place every six yearsand the 11 operate that particular plant at 75 percent
12 2003 cost is about amillion dollars, correct? 12 capacity or capability throughout the year, so
13 A. Theadditional cost is approximately amillion 13 there is some additional useful life. And we
14 dollars over the - 14 anticipate a20/20 isa non-issueand in al
15 Q. Okay. Andbutyou said that, well, if you 15 likelihood we will be able to get beyond that
16 didn't do this, thelifewould certainly be 16 with some reinvestment of capital over time.
17 shortened. Doesthat not, asa corollary, 17 Q. Right. Soif--and unit, this was unit No. 1,
18 mean that the lifeisextended by doing the 18 that would have come into service when?
19 overhaul ? 19 A. 1970, possibly.
20 A.That is anormal practice for any steam 20 Q. Right. So intheordinary course of events
21 turbine operator to do amajor overhaul at 21 that would have already exceeded its useful
22 some periodic interval which may vary withuse |22 life, so but for these six year overhauls--
23 or their experience. And | guessit’s--if you 23 these six year overhauls extend that life out
24 didn’t maintain it, you would deteriorate the 24 further, isthat not essentially the case?
25 life. I’'mnot preparedto say that we're 25  A. | think the six year overhauls ensure that we
Page 107 Page 108
1 will actually get there. | think one of the 1 Q. And the heat tracing?
2 biggest factors in getting beyond the 30 year 2 A Yes
3 lifeis thefact that our operating factor 3  Q And that would be a betterment or an
4 since year one would not have been 75 percent, 4 improvement to those from their current
5 it would have been something less. 5 condition?
6 Q. Yeah. Now, there are other projectsthat are 6 A.Ilt'stoensurethat we can, that we can move
7 major projects in 2004 which are in the 7 oil. Bunker C obvioudy in the cold
8 numbers, aheap tracing refurbishment for 8 temperatures doesn’t flow very well so we have
9 about $203,000? 9 to keep it heated. So it doesn’t necessarily-
10 A.Yes 10 -it doesn’t preserve the life of the pipesin
11 Q. And what'sinvolved in that? 11 the sense of, you know, reducing corrosion or
12 A. Primarily that isthe fuel linesfrom the, I'm 12 whatever from any major sense. It'smoreto
13 not sure which section, it would be from the 13 just maintain the operating capability that
14 marine dock to the--the marine dock to the oil 14 was designed initially.
15 storage tanks. Andtwo of those tanks are 15 Q. Andyou have fuel oil tank cleaning and repair
16 original, the same age as the original units 16 for 665,000?
17 and two tankswere built in 1979, '80. So 17 A.Yes
18 over the period of time there's been a 18 Q. What'sthat in relation to?
19 deterioration in theinsulation andin the 19 A. That isthefuel oil storage tanks. We're not
20 heat tracing, so basically we are just 20 contemplating any replacement of any steal of
21 basically overhauling, if you will, and 21 consequence. It'sto look at the condition of
22 replacing what has been worn out. 22 the roof, to repair any pitsthat are there,
23 Q. Sothat's renewing the insulation on these 23 to apply a protective coating, ie, paint, to
24 systems? 24 drain the tank, to do non-destructive testing
25  A. And the heat tracing equipment itself. 25 of the wells and so on to ensure we do not end
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1 MR. HAYNES: 1 A.Yes Youknow,it's basicaly a pitch and
2 up with an oil spill or leak. 2 gravel roof which over aperiod of 15 to 20
3 Q. Andyou've got an asbestos abatement program. 3 years often require considerable maintenance.
4 | take it that’ s to remove asbestos from some 4 Soit'll bejust -
5 areafor 175,000? 5 Q.Butinthis case | takeit, it's more than
6 A Yes 6 just a quick patch, it's actually a
7 Q. Whereisthat coming out of? 7 replacement job?
8 (12:00 p.m.) 8 A. Of asection of theroof, yes.
9 A Primarily it'sunits No. 1 and 2 which were 9 Q. Right. Andthelast onel wanted to ask you
10 the origina plant. There's some small 10 about was fire protection purging vaves
11 amounts of asbestos that was installed on Unit 11 relocation for $200,000?
12 No. 3 mostly through repairs done over time 12 A Yes
13 and it’s some--$175,000 is, | would suggest, 13 Q. Whereisthat?| take it there are new valves
14 the minimum amount that we see at this point 14 being installed?
15 intime. And over aperiod of years we would 15 A.No, it'snot new valves;it's actually a
16 endeavour to remove most of the asbestos from 16 relocation. And that was a strong
17 the plant. 17 recommendation of our underwritersfor some
18 Q. Andyou've got aroof replacement for 215,000? |18 years. And right now the turbine generators
19 A.Yes 19 of Holyrood are cooled with hydrogen gas, all
20 Q. Whereisthat roof? 20 threeare. And| guess experience has shown
21 A.lIt'sinthe powerhousein one of the-—-it'sa 21 in other facilities and so on that obviously
22 section, it’s the replacement of a section of 22 if it'safailure, it'safairly volatile and
23 the roof. 23 explosivegas. And their recommendation was
24 Q.Andthat partof theroof issmply being 24 to move the purging valvesfrom the second
25 replaced? 25 floor, which isbasically down below the
Page 111 Page 112
1 operating deck where the operatorsare up 1 host of other things with such a complex
2 where they’'re more readily available to the 2 operation. We have not capitalized that.
3 operator in the case of emergency so he can 3 Q. Okay. Canl takeyouto NP-249? Thisasks
4 actually isolate and shut off the hydrogen gas 4 about Hydro'sguidelines for capitalizing.
5 to isolate the system. 5 And the answer is, "Overhauls or major repairs
6 Q. All of theitemsthat wejust talked about in 6 would not normally be capitalized unless
7 2004 are in as operating expense as opposed to 7 considered as a replacement or betterment of a
8 capital expense, and the 2003 major turbine 8 unit or portion of aunit of property. And
9 overhaul, thatin fact, was in asa 2003 9 subject to Board approval the cost of major
10 operating expense as opposed to a capital 10 extraordinary repairs are recorded as deferred
11 item. Can | suggest to you, Mr. Haynes, that 11 chargesand amortized on the straight line
12 some of these items, in particular, the 12 method over fiveyears." For example, the
13 overhaul, the roof replacement, the heat 13 roof replacement welooked at isclearly a
14 tracing replacement and some of these other 14 replacement of a portion of a unit, isit not?
15 oneswould, infact, be more appropriately 15  A. The portion of the roof, yes.
16 capitalized? 16 Q. Sowhy wouldn't that be capitalized within
17  A. Todate Hydro has treated most of those costs 17 that guideline that you’ ve got there?
18 as operating costs because there was no 18  A. None of the particular projects that we have
19 significant life extension. We've had some 19 in the operating budget for Holyrood we
20 discussions, obvioudly, with the controllers 20 actually proposeto treat that way. Usually
21 on and some decisions whether they should be 21 on arecurring basis each and every year there
22 operating or capital, butto datewe have 22 area number of these aspectsin Holyrood.
23 considered these to be, you know, operating 23 The heat tracing was apart of amulti-year
24 costs because it’s particularly in Holyrood, 24 program, and theroof replacement, | don’t
25 it's--that isthisyear. Next year it'll bea 25 recall that as being a multi-year program, but
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1 MR. HAYNES:
I would not be shocked to find that next year
or the year after we may find acomparable
item. So over aperiod of timeit kind of -

. But some capital projects dogo onover a
number of years, both big ones and -

A. Oh, yes.

Q.- small ones. And take the heat tracing
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refurbishment or replacement which again would
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it, "Subject to Board approval”. HasHydro
requested the Board to deal with any of these
items over an extended period of time, either
by putting them into capital or having them
dealt with as amortized over five years?

A. No, not to my knowledge, no, we have not in
recent times taken that approach.

Q. Okay. Can | take you to one last question on
maintenanceto Mr. Brushett's’ 03 report at

10 be a replacement that takes place, | would 10 page 42, and to the table at the--sorry. If |

11 suggest to you, of a capital nature? 11 said'02, Mr. O'Reilly, | meant to say '03,

12 A. We haven't taken that approach for some of the 12 page 42. There wego. Thisdeals with

13 systems at Holyrood. We've treated those as 13 maintenance expenses. And you see production

14 operation costsand I'm - 14 there?

15 Q. Butthenit goesinto - 15 A.Yes

16 A. And I’'m not sure what the depreciation - 16 Q. Which would be your department. In’02 we had

17 Q. Butthenit goesintothetest year expense 17 7.7 or 7.8 million whereas forecast ‘04 is9.1

18 for which for customers and ratepayers have to 18 million, which isan increase of about 1. 3

19 pay as opposed to having to having it 19 million, many of which are the projects that

20 capitalized? 20 we just talked about. And keeping in mind the

21 A.Andif youhaditina capital wewould earn 21 significant increase of 1.3 millionover’ 02

22 for a long number of years, which would be 22 to’ 04, does that shed any light on whether

23 more onerous on the ratepayer. 23 these should be treated as capital or

24 Q.Yes. Butthere'sa question of balancein 24 operational ?

25 there. And that comesto the second part of 25  A. | think you can equally go back to 2001 where
Page 115 Page 116

1 it was $9.2 million. And 2002 we did cancel 1 in excess as you go aong through 2002 travel

2 some projects, you know, in striving to--or 2 and conferences than any of the other

3 deferred some projects and cancelled someto 3 departments?

4 some considerabletime later to try to meet 4 A Yes

5 the direction of the PUB on our productivity 5 Q. Canyouexplain touswhy that would bethe

6 alowance and our bottom line. But the2002 6 case and what efforts are in place, if

7 test year was--the 2003 test year--1'm sorry. 7 anything, to control those items?

8 2003 test year included amajor overhaul. 8 A. For both categories or?

9 2004 does not have a major overhaul, but there 9 Q. You have both travel and conferences, and as |
10 are other projectsthat are inthere. And 10 look across the line both substantially exceed
11 certainly on ago forward basiswe will try as 11 the amounts for any of your other departments.
12 best we can to levelize that. And that’s been 12 The first question, why isthat the case, and
13 the subject of, | guess, some discussion for 13 the second part of the questionis what is
14 sometime. It'svery difficult to levelize 14 being done to control it?

15 the cost of Holyrood because of the nature of 15 A. As| mentioned, | believe, when Mr. Browne was
16 the beast. But--and | fully expect in 2005 16 guestioning on this, on the travel components,
17 it'll be inthe same order of magnitude of 17 thels and T department, you know, maybel
18 numbers. 18 should go back and compare it to hydro

19 Q. A couple of questionsjust to close out with 19 generation. Hydro generation has afew extra
20 respect to the IT area. 20 people, but they basically maintain seven or
21 A.Yes. 21 eight specific sites, different hydro plants.

22  Q.Andcanwehavealook at NP-259? And if we 22 The 1sand T section maintain all the IT

23 go over to the attached schedule, we look at 23 infrastructure acrossthe system, the VHF

24 the production division, thisis travel and 24 communications, the microwave system, so
25 conference, the amount for 1T is dramatically 25 inherently there’s a bit more travel to an
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1 MR. HAYNES:

excess of 100 particular sites, so thereis
more travel. On the conference budget, there
has been money allocated for attending various
technical conferences whereby it’s--whereby
thereis value added in the sense of bringing
back what other IT organizations are doing,
what other utilities are doing, and that was
part of the seventy-one, five. In 2003 it
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significantly down ontravel from 220 to--
well, from 218 or 219 to 184.

. Butit's still -
I’ s still high.
.- it'sstill up over 166 in 2002.

Yes. But wehave added aVvHF radio--I'm
sorry, we have added an additional microwave
systems, the interconnecting loop between
Sunnyside and Grand Falls areaand added a

10 basically was 25 and ahalf. Andif | recall 10 facility which requires obviously personnel to
11 correctly, in our re-filethere will be a 11 maintain and review.
12 change in the seventy-one, five, down to 12 Q.If | take you to the Grant Thornton '02
13 comparable levels tolast year. But in 13 report, and | do mean’02 thistime, at page
14 keeping up with the technology and the trends 14 24, and you'll see this breakdown, and there's
15 and understanding what people are doing and 15 anitem inthere for EXPAdvisory Service,
16 opportunities for improvement, conferences are 16 which | understand is essentially another name
17 agood place to attain that information. 17 for the Gartner Group research people, see
18 .But | thought travel and 1T wasone of the 18 that?
19 areas that you had told us earlier that there 19 A.|l seeEXP,yes.
20 were some potential for savings now as you get 20 Q.Okay. Andif you gotoNP-257, you'll see
21 the ability to control and rectify some of 21 Gartner Group for the years’01, '03 and ' 04,
22 these systems from St. John’s? 22 and the numbers, in round figures, about
23 .Yes, and to - 23 104,000 for '01, 138 for '02, 138 for '03 and
24 . It' s about travel. 24 145. Can you explain to us what this
25 .- and the 2004 forecast, from 2003, is 25 continuing item isfor?
Page 119 Page 120
1 . We have subscribed to Gartner, as has dozens 1 accepted by virtually all of the--it's a book,
2 of other utilities and companies, both in 2 not a book necessarily, but itisalist or a
3 Newfoundland and otherwise, for their advisory 3 structure of IT best practices which we
4 services with respect to IT, and you know, a 4 subscribe to. When we started doing thisand
5 lot of other--the Newfoundland Government, 5 looking at this, and | would suggest that
6 health care, Newfoundland Tel, New Brunswick 6 Gartner was probably a part of that, who may
7 Power. It'sbasically aretainer that we pay. 7 have been apart of that particular--of us
8 We subscribe to certain services from Gartner 8 actually buying into that methodology. We
9 to aid usin ensuring that we are getting the 9 retained the company to help us set up some of
10 best value for our money spent on all our IT, 10 the aspectsand over aperiod of time, that
11 inorder for us to provide more or better 11 will diminish. What we acquired from the ITIL
12 services at the same or reduced cost. It'sa 12 consultant that we had hired was basically to
13 common industry--it's awell-known consulting 13 comeinand work with us to set up some of
14 group in the IT area and subscribed to by many 14 these particular systems so that we can learn
15 utilities and other companies. 15 and set up future ones ourselvesat amuch
16 . But in addition to that, the next item down is 16 reduced cost.
17 "Information Technology Infrastructure 17 Q. Sotherewasa-
18 Library" and that also isarecurring item 18 A.-bascaly,it's alist or awhole raft of
19 that if you go through the numbers, in 2002, 19 best practicesin the IT area.
20 you' ve got 259, 2003 66 and 2004 76. What's 20 Q. Soaconsultant camein and set this up for
21 included in that item, since you’ve already 21 you?
22 got Gartner? 22 A.Helped us kick start, if you will, that
23 .ITIL, they arenot--ITIL isan information 23 philosophy and where we can use those
24 technology infrastructure library, originally 24 particular tools and gain by it.
25 put together by the British government and 25 Q. Do you know how much that consultant cost?
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1 MR. HAYNES: 1 that have anything to do with your department?
2 A.lthink that’sinthe numbersthat you had 2 A. It would be through the 1S& T department.
3 there aminute ago, in 2002, | believe, of-- 3 Q. Goesthrough IsT. What was that about?
4 and they set up the Help Desk process and a 4 A Canyoujust repesat the -
5 couple of other - 5 Q. It'sMr. Roberts, if youwant, the precise
6 Q. Sothat’sinthe 259,000 in the 2002 year, is 6 language, October 16th ' 03, page 121. Put it
7 it? 7 onthe screen, if youlike. And it'sline,
8 A.Yes. My recollectionisthat wastheinitial 8 about 24. No, gonetoo far, top block. There
9 comein and get it going. Therewould be 9 you go. If you scroll down alittle hit or
10 reduced costs after that and it would 10 scroll, take it back up to the top a bit, Mr.-
11 diminish. 11 -there we go, we get the top of the next page.
12 Q. Sothe ongoing cost then isin the order of-- 12 The bottom of page 121, "therewas 224 for
13 well, in 2004, you'vegot it budgeted for 13 additional information technology items
14 $76,000. 14 covering assistance that were required
15  A.In 2004, yes. 15 relative to our intranet document management
16 Q. Okay. If you go back to the Grant Thornton 16 security.”
17 "02 report, one of the questions I’ d asked Mr. 17 A.l don't recal specificaly, but with respect
18 Roberts, as Grant Thornton dealt with 18 to the intranet that we have deployed, we pay
19 significant items, there was about $900,000 19 afair bit of attention to security andto
20 left over and | asked what was included in 20 ensure that people can’'t, you know, hack our
21 that, and one of theitemsthat Mr. Roberts 21 sitesand so on, but | don’t -
22 referred to was 224,000 for additiona 22 Q. Don't know what that is?
23 information technology items covering 23 A.-recal specifically, but | would suggest
24 assistance that was required relative to the 24 that it’ srelated to that aspect of it.
25 intranet document management security. Does 25 Q. And then there was another 141,000 associated
Page 123 Page 124
1 with Holyrood and included such things as 1 technologists are basicaly certified by, |
2 utilization of services of a chemical 2 think, CAEL, C-A-E-L, | believe. So those are
3 consultant, et cetera, read it there. What 3 costs related to our water quality, keeping up
4 did that relate to? 4 our certification of the technicians and so
5 A.InHoalyrood, it'sathermal plant. You could 5 on.
6 asolook atit asa chemical facility, | 6 Q. Thank you, Mr. Haynes. Those areal my
7 guess, aswell. We have to pay quite abit of 7 questions. Thank you for your patience.
8 attentionto our water that we usein the 8 A.You'rewelcome.
9 steam processes. It's demineralized water and 9 CHAIRMAN:
10 we retained, | think it was Dearborn Chemicals 10 Q. Thank you, Mr. Kelly. Mr. Haynes, we'll move
11 at that time, to review our chemical treatment 11 now to the Industrial Customers. Good
12 of thewater. If wedidn't do that and our 12 afternoon, Mr. Hutchings.
13 water quality condition dissipated, then 13 HUTCHINGS Q.C.:
14 basically we would have more fouling of boiler 14 Q. Thank you, Mr. Chair. Just as | had mentioned
15 tubesand lessefficiency andso on. The 15 earlier, Mr. Seviour will be participating in
16 other aspect is that at the Holyrood facility, 16 this cross-examination as well. He will be
17 with respect to the landfill, we had a 17 dealing with issues related to plant
18 certified landfill. We recover all water that 18 assignment, but I' [l start off and deal with
19 comes over that. Wetest it to ensure we're 19 the balance of theissues that Mr. Haynes
20 not leaking anything into the environment, and 20 addressesin hisevidence. Good afternoon,
21 aswell, our lab technicians out there are 21 Mr. Haynes.
22 certified through, | forget the particular 22 A.Good day.
23 branch, but that's a requirement of our 23 Q. Mr. Haynes, | want to begin with some brief
24 certification with Government to maintain that 24 questions on the area of hydrology. Inyour
25 self-controllability that our chemical 25 evidence at page 28, and there were some
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1 HUTCHINGS, Q.C.: 1 initially, there was a Granite Canal which was
2 questions addressed to you earlierin this 2 basically blasted out of rock todrain the
3 connection, 28, page 28. You were asked 3 water from Granite Lake down to Maelpaeg, and
4 earlier, | think, in connection with lines 11 4 al we did really with respectto Granite
5 through 13 on that page, about the power and 5 Canal iswe basically put abypass structure
6 energy analysis that you did for Granite 6 there and we built a canal and a small intake
7 Canal. Can you just explain for us how the 7 for the Granite Canal project. So there's no-
8 addition of the Granite Canal plant affects or 8 -there may be some small impacts or impacts on
9 is affected by the inflows that we have spoken 9 the operating level of Granite Canal, but
10 of or does Granite Canal make any difference 10 there' s nothing out of the ordinary.
11 to the actual water inflows in the Bay 11 Q. Okay. Socanyou just explainfor usthen
12 d’ Espoir system? 12 essentially theflows of water that we're
13 A.No, itdoesn't. Therewasno change inthe 13 talking about in the Bay d’ Espoir watershed?
14 watershed area, the drainage area, with 14 You'releaving mewith theimpression that
15 respect to the Bay d’ Espoir plants. So there 15 this water is in fact used by severa
16 was no--there would be nothing of any 16 different plants over and over and | just want
17 consequence. There may be some inter- 17 to make surethat I'm getting the right
18 reservoir flowsthat may be affected, but 18 understanding of that.
19 there would be no gross change or no overall 19 A.l don't have amental picture of all the
20 change. 20 reservoirsin the Bay d Espoir area, but I'll
21  Q.Okay. So is there a separate specific 21 start from the sealevel and go back.
22 reservoir that relates to Granite Canal ? 22 Q. Okay.
23  A.Basicdly it's Granite Lake. 23 A.Our Bay d'Espoir plant is built basically at
24 Q.Yes 24 not tide water, but closeto it, and that
25  A.Wedid erect the--when Bay d’ Espoir was built 25 would be the lowest hydraulic head plant that
Page 127 Page 128
1 we have. Asyou go back up country, you get 1 average estimated capability and 216 isthe
2 into Upper Salmon and Upper Salmon takes 2 firm.
3 advantage of anatural elevation difference 3 Q. Okay. | noted that one of the recommendations
4 between a couple of reservoirs. Granite Canal 4 made by Acres, and it’s quoted by you on page
5 does the same thing, as would Island Pond, if 5 29 of your evidence, references the fact that
6 and when we ever build that. So what we've 6 the system simulation models usually require a
7 doneis Granite Canal would be the--the water 7 common start date for all inflow sequences,
8 that comes from the furthest reaches of the 8 datafrom theearlier years of some inflow
9 reservoir isturbined at Granite Canal. It 9 sequences would have to be cut off. | take
10 will eventually be turbined at Upper Salmon, 10 it, again, Granite Canal doesn’t impact that
11 and finally, it's used athird time over at 11 process at all, doesit?
12 Bay d Espoir. | don’t know if that explains 12 A. No, it shouldn’t because the water regimein
13 your - 13 the Bay d'Espoir areg, it'sall part of the
14 Q. Okay. Yes, | think that’s consistent with the 14 same watershed. So there may be some little--
15 impression that | was getting. So in terms of 15 some small distribution factors between the
16 the hydrology issues that were left to be 16 variousthings, but the actual water that’s
17 dealt with and have been addressedin the 17 discharged at Bay d’ Espoir will not change.
18 Acres report now, the presence or absence of 18 Q. Okay. If we can move then to your Schedule 4,
19 Granite Canal really doesn’t impact that. 19 which you discussed a bit, | think, with Mr.
20 It's just that we are able to get an 20 Kelly, and it'sagraph of total system energy
21 additional 224 gigawatt hours of electricity 21 storage. Am | correct in assuming that this
22 out of the same water? 22 particular line isnot what you technically
23 (12:23 p.m.) 23 refer toor use operationally as a guide
24 A. The 224 should not change as aresult of any 24 curve, isit?
25 consequence with respect to this. 224 isthe 25  A.It'swhat guides us on our annual operation
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1 MR. HAYNES: 1 A.ltwould beafactor intheindividual plant
2 for the reservoirs, and | guessin describing 2 operation.
3 that yesterday, | may have misrepresented a 3 Q. Yes yes Butl mean, I’'m assuming that you
4 little bit the summer increasein June and 4 produced this graph in thisform essentially
5 July. | think | had talked about snow melt 5 for illustration purposes, in terms of showing
6 and soon. That ismore related to our peak 6 the total system energy storage as opposed to
7 maximum flood. When the probability of a 7 giving us something that your operators would
8 flood event at that time of the year is 8 use on a day-by-day basis to actually manage
9 actually lower, so we can actually surcharge 9 and control the systems?
10 some of the reservoirs, but it isa-thisisa 10 A.This is used by our operations people.
11 system and each particular reservoir may have 11 Basicaly when youlook at the, whatever
12 aguide curve that talks about, for Granite 12 colour that is, I’m sorry, the purplish line,
13 Canal orsay for Cat Arm. This is the 13 the pink line, I'll call it, that is where we
14 overall, you know, energy and storage that we 14 stand with respect to meeting our firm
15 have. 15 requirements. So when we are below that line,
16 Q. Yes, andthat'swhat | was gettingto. This 16 we would be stressing production out of
17 is acumulative graph which shows all of your 17 Holyrood. When we're above that line, then,
18 systems, even if they're not connected to one 18 you know, we could back off alittle bit on
19 another? 19 our expectations of Holyrood. So we would try
20 A.Yes 20 to stay, on awhole, above that green line. So
21 Q. Yes, okay, al right. So presumably for each 21 itisused. That is something that | would
22 of your reservoirs and at least for each of 22 look at periodically in my office to see how
23 your generating plants, there would be aguide 23 we'redoing. It's the subject of a daily
24 curve and that would be what would be used in 24 report.
25 the actual operation of your facilities? 25 Q. Yes. Butyour purplelinethereisaamalgam
Page 131 Page 132
1 of the operations of a number of watersheds, 1 asked "so thered lineat thetopis your
2 and | mean, theoreticaly, Cat Arm, for 2 perfect world, so to speak?' and you say "the
3 instance, could be pushing the limits of its 3 ideal world, yes." The top red line
4 maximum storage, whereas Bay d’ Espoir might be 4 represents, as indicated, the maximum
5 low, so that, you know, you' d be operating Cat 5 operating level? Isthat correct?
6 Arm in adifferent way than you would be the 6 A.Abovethat line, we will be ina spilling
7 Bay d’ Espoir watershed, if that was the case? 7 water. That isthe maximum storage capability
8 A.Yes, that's correct, and that obviously 8 of the reservoir system.
9 depends on the hydraulic conditions on the Cat 9 Q. Yes, okay. But let's assume that this graph,
10 Arm reservoir versus Bay d’ Espoir, et cetera. 10 instead of representing the entire system, was
11 Q. Right, okay. 11 representing a single reservoir system, and
12 A. Often times different. 12 let’suse Cat Arm, because Cat Armiseasier
13 Q. Yes. Soyou manage each reservair in itself 13 separate from al the others. In managing
14 as opposed to specifically managing--1 mean, 14 your system, would you try to get to the red
15 obviously you manage the whole system, but you 15 line or would you try to get tothe green
16 have to look at the individual guide curvesin 16 line?
17 order to determine what usage you're going to 17 A.lnany particular reservoir, you would--if
18 make of aparticular facility, correct? 18 you're at the red line, you' re probably in a-
19  A. Yes, welook at each facility and, aswell, we 19 you are risking spill, accepting a higher risk
20 look at the whole. 20 of spill, in asinglereservoir. You would
21 Q. Okay. Now you spoke with Mr. Kelly on this 21 try to manage the whole. Obvioudly it don’t
22 yesterday, and at page 160 of transcript of 22 have to be the same, but you know, you would
23 October the 20th, at line 10. You're 23 have some ban that you would operate and |
24 discussing the different lines that appear on 24 don’t know what the actual number is inthe
25 this particular graph and at line 10, you're 25 operating area, but | don’t think that you
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1 MR. HAYNES:
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would striveto maintain any operating plant
to be at 90 percent full and another one to be
at 30. Y ou would have some range of realism,
tempered by thefact that you would try to
minimize your use of ail.

Q. Yes. And whenyou're on the green line,
essentially you're maximizing your use of
water, aren't you?
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would have alot of rain and we would be doing
both. You know, you operate within those
bounds, as system conditions dictate. If you
could provide all our load to al our
customers with no oil use and stay up closeto
the red line, we have tonsof water, it
wouldn’t be an issue.

. Yes.
. But that’ s not redlity.

> O

10 A. That'scorrect. 10 Q. No. Butl mean, withour systemasit is
11 Q. Okay. And if you had perfect foresight and 11 configured now, other than a couple of months
12 you knew that you were going to get sufficient 12 in the summer, we can’'t provide the complete
13 rainfall and other eventsto keep you on that 13 load hydraulically, correct?
14 green line, you'd stay onthe green line 14 A Most summers we can shut down most all
15 forever, would you not? 15 machines at Holyrood. That’s not--you know,
16 A. That would protect our firm, whichis our 16 it may be for three weeks. It may be for four
17 minimum criteria, yes. 17 weeks, maybe one machine running, or no
18 Q. Yes, okay. Sol'm pursuing this because it 18 machines running, but it depends on the demand
19 would seem to me that the red line wasn't 19 of the system, and particularly the hydrology
20 actually the perfect world, that the green 20 that we' ve experienced.
21 line was, and I’m wondering if you can comment |21 (12:32 p.m.)
22 on that? 22 Q. Yes. But given that we are, most of the time,
23 A.Wdl, my commentin respect tothe perfect 23 pumping at least some thermal energy into the
24 world, | guess, isthat if we had full supply 24 system, our goal should be to keep as closeto
25 reservoirs and we're meeting our load, we 25 the greenline as we can get? Is that
Page 135 Page 136

1 correct? 1 Q.Butagain, if we look at the slope of the

2 A.lwouldn't say, not on amonthly basis, but on 2 green line itself, what factors are

3 an annual basis, if you come into the--you’'re 3 incorporated into where that green line

4 onthe greenline and you go out of the-- 4 happensto be at any particular point during

5 you're close to thegreen lineand you're 5 the year?

6 doing well, but at any particular month in the 6 A.l think one is the average expected

7 period, you would built up hydraulic resources 7 precipitation on amonthly basiswill be a

8 and you would be above the green line, 8 factor, and probably afairly key factor. We

9 anticipation of freeze up or thefact that 9 basically plan the system based on average.
10 you're goingto delay startinga Holyrood 10 Q. Yes
11 plant. Soit'snot a-I don't think that the- 11 A. Andthe average inflows. | say precipitation,
12 -itwould beatarget to stay on the green 12 really what we actually measure is the
13 line 365 daysayear. You would certainly 13 inflows, not the precip per se.
14 build up areservoir situation beyond what 14 Q. Sothe minimum energy storagetargets that
15 would meet your firm, knowing that you are 15 you've established are based on these three
16 going to come down as youdo there, for 16 worst years scenario?
17 instance, in 2002. Wewere up to about two 17 A.| gather it’s about three and ahalf to four
18 terawatt hours in June and then presumably 18 years, 1958 to’'61, that timeframe isthe
19 Holyrood shut down at that time frame and when |19 firm sequence which we' ve planned for.
20 Holyrood shut down, we quickly came back to 20 Q. Yes, okay. | guess my question might perhaps
21 near the greenline. Soit’s a-you know, 21 best be answered by having you explain for us
22 there' s no standard answer. Y ou can certainly 22 why that green lineisn’t simply a horizontal
23 wrap up between those lines and still maintain 23 line going across here.
24 overall effectivenessof Holyrood and the 24 A.lwon't pretend to know all the details that
25 hydraulic resources. 25 go into that, but it is not sort of similar to
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Page 137
1 MR.HAYNES:

the red linein the fact that, you know, that
lineisbased on an average precipitation or
snow melt--1'm sorry, inflows to the reservoir
and so it does move. Inthe summer months,
our average precipitation is down and the line
occasionally comes up alittle bit because we
would not anticipate amajor influx of rain,
you know, for instance, in the middle of June.
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series of lowest water years that we' ve spoken
of from the 1950s, what are the other inputs
into that green line? | mean, if, in fact, it
was just the lowest water years, then
presumably it would be aconstant line. It
wouldn’t change year over year?

.1 don't know all the factorsthat go into it,

but even if it was the average water, it's
based on the monthly averageinflow. Soit

10 We would not anticipate, on average, that we 10 would not be aflat line in any case.

11 would have mgjor rainfall. Soit’s primarily 11 .No, no, I'mnot saying aflat line, but it

12 driven by the inflow averages that have been 12 would be the sameline thisyear as it was

13 built over time. 13 last year, if it was based upon three or four

14 Q. Okay. Doesthat green line change from year 14 years inthe 1950s, if that wasthe only

15 toyear? 15 input?

16 A.Yes, it does. Theaverages changeover a 16 . I’'m not sure of the answer. | don’t know.

17 period of time. Therewas an RFI filed with 17 . Okay. Can you try to get an answer for me on

18 several sequences and there is some, you know, 18 that?

19 change from year to year. | don't recall 19 .1 cantry to clarify abit more detail.

20 which RFI it was, but there was an RFI filed 20 (Undertaking)

21 with a series of charts from probably three or 21 . Okay. Thanks. Arising also out of your

22 four years, and there are some changesin the 22 discussion with Mr. Kelly on that subject, is

23 green line, based on average, where the water 23 it fair to characterize your operation of the

24 is and the situation at the time. 24 hydraulic and the thermal generating capacity

25 Q.Okay. Socanyou tell me, aside from that 25 as basicaly a trade off between oil and
Page 139 Page 140

1 water? 1 later in the year. | mean, at the end of the

2 A.ldon't think trade off isan appropriate 2 year, we have X number of terawatt hours, 8

3 description. What wetry to do isoptimize 3 point, 8400 or whatever it is, gigawatt hours

4 the hydro-thermal mix to reduce the overall 4 to supply, and if we're not in a-we do not

5 cost to the rate payer, to the customers. 5 plan for spill per se, any of the energy

6 Q.Yes Asyoudiscussed with Mr. Kelly, given 6 that’ s saved or produced hydraulically will be

7 that the margina source of energy is, for all 7 replaced by thermal in the short term.

8 intents and purposes, always Holyrood, the 8 Eventually a new source will be required.

9 time of year at which you generate doesn’'t 9 . Effectively, you could choose, at any point
10 affect your costs, your margina cost on the 10 during the year, when there wasno fear of
11 system, doesiit? 11 spilling, to burn fuel to basically add water
12 A.Inthe shortterm, | guess | say that the 12 to your reservoirs, correct?

13 marginal cost in the short term is Holyrood, 13 . Yes, and we do takethat into consideration

14 but as you approach--you know, when you start 14 and we do--you know, when we are particularly
15 to run out of that capacity, our marginal cost 15 below the green line, we have adesire to get

16 may be, you know, a combination of next source |16 Holyrood back on sooner so we can get above
17 and so on. So it’s not the--the marginal cost 17 that line to assure that we can meet our firm

18 inthelong runis not necessarily Holyrood. 18 target.

19 It may be the next source or some combination. 19 .I’'m more interested, | guess, inthe times

20 But in the context of on a short time, short- 20 when you’ re between the green line and the red
21 term horizon, if we're not spilling water or 21 line. You'reabove your target green line

22 not risking spilling water, any energy that we 22 water level, if you wish, but thereisno fear

23 do not--any energy, for instance, in July that 23 of spilling. And referring to your fuel

24 we do not generate by thermal means because 24 purchase contract which allows you a certain
25 we're using our hydrology, we would generate 25 amount of purchases on the spot market, have
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1 HUTCHINGS, Q.C.: 1 So when the market spikes up or spikes down,
2 you considered spot market purchases during 2 we don't actually pay those prices. We pay an
3 the summer periodsin order to build water 3 average monthly price, which wethink is a
4 reserves for the winter period? 4 good compromise of gaming it, and you can win
5 A.Notof late. Wehave not looked at it. | 5 or lose by doing that.
6 mean, it’s an option that we have, to look at 6 Q.No, | understand that, butif you'rein a
7 the spot market to do that, but we have not 7 situation in the summer when the forecast for
8 actually done that in recent times. 8 thefall whenyou would normally be making
9 Q. What forecast pricing information do you get 9 your fuel purchasesisthat there’s going to
10 from PIRA on aregular basis through the year 10 be an increase in the prices, what extra cost
11 which might allow you to evaluate that 11 isthereto you, other than a carrying cost
12 possibility? 12 perhaps, of making a spot purchase at what is
13 A. |l think we get aPIRA forecast, | believeit's 13 forecast to be alower price than you’ re going
14 on the quarter, and basicaly, in the short 14 to pay inthefall, and using that energy to
15 term, they giveus amonthly forecast, and 15 fill your reservoirs basicaly.
16 then in the long term, they give us an annual 16 A.Thereis nothing to prevent usfrom doing
17 number, you know. For 2004 right now, it'll 17 that, it's not an option that we' ve chosen to
18 bejust a-1"m sorry, 2005, it'll be asingle 18 be one that gives us great comfort that we are
19 number. Butit'saforecast. Thatisa-if 19 going to actually gain at the end of the day.
20 we were guessing the market, | guess, we could 20 It al depends on wherethe market goes. We
21 do that. We have not done that in a 21 could do that, if we were to order a shipment
22 considerable amount of timeand really, our 22 of ail for such and such adate, and we get
23 fuel purchase contract that we havein place 23 that price the next month, it could be up or
24 right now, as mentioned inour thing, is 24 down. | mean, the forecast now for 2003 is
25 basically we pay on monthly average prices. 25 that actually in October, it will be down
Page 143 Page 144
1 again, so | mean, it'sso volatilethat | 1 going at, say 100 megawatts of average
2 guessit’s, as Risk Advisory had said in our, 2 loading, we would deteriorate and I'm sure, |
3 inthereport that we had done, that it was 3 would suggest we would |ose--we could lose any
4 very unlikely that we could actually beat the 4 benefit that we gained by buying on the spot
5 market in a sustained fashion. 5 market, not to say that we can’t do it, but--
6 Q. No, no, I'm not speaking about their notion of 6 and we do have the provision to do that, but
7 beating the market in asustained fashion, 7 it'swhat we consider alittle bit of risky
8 it'ssimply aquestion of timing purchases, 8 business. It's agamble and we have chosen
9 given that you know that at some point during 9 not to take that approach.
10 the year you're going to burn that fuel in any 10 Q.Looking a where your actual total system
11 event. Dol takeit that you haven’t looked 11 energy storage was at the end of 2002, you
12 at that possibility? 12 were some significant different distance below
13 A. There aretwo other factors there, oneisthat 13 your green guideline, correct?
14 | guessin the summertime Holyrood is under a 14 (12:45am.)
15 fair bit of maintenance activity, and so you 15  A.I’mnot--yeah, on that chart, I'm not quite
16 really don't have the opportunity to do too 16 sure what the previous graph, the greenline
17 much of that, obviously there’'ssome; the 17 was. | don’'t remember which RFI that was, but
18 other thing is that in the middle of winter 18 on that particular--going in on January 1, we
19 and December, wewill be operating three 19 were below the--where we would like to have
20 machines anyway and we would try to optimize |20 been, primarily based on the heavy demand put
21 and increase the loading to as high as 21 on Holyrood during the year--I'm sorry, the
22 reasonably possible to maximize our conversion 22 low hydraulic inflows during the year.
23 factor. If you were to run up against the red 23 Q. Sodoes that fact constrain the amount of
24 line, if you will, and then in the wintertime 24 energy you can produce hydraulically?
25 you would haveto, you know, keep Holyrood 25  A.Canyou repeat that?

Page 141 - Page 144
Discoveries Unlimited Inc., Ph: (709)437-5028



October 21, 2003

Multi-Page™ NL Hydro's 2003 General Rate Application

Page 145 Page 146
1 HUTCHINGS, Q.C.: 1 below what you would normally expect.
2 Q. Doesthefact that you are below your guide 2 Q. Andthereby, you take the risk that you' re not
3 curve, the green line, shall we say, constrain 3 coming into the driest cycle ever?
4 the amount of energy that you can produce 4 A Wéll yes, | guessin away you could say that,
5 hydraulically at that point? 5 but, you know, we do have, if youwere ina
6 A.No, | don't think on aweekly or adaily basis 6 pinch you could obviously use gas turbinesto
7 it would. I think what it really saysisthat 7 provide some energy if you'rejust alittle
8 if wewere tostart our firm sequence on 8 bit off that base, athough it's very
9 January 1 of 2003 and we actually had a repeat 9 expensive and prohibitive to do.
10 of a 1958 to 61 event, we would have some 10 Q. Butl mean, your gas turbinesare built into
11 difficulty meeting our energy requirements 11 your firm capacity, correct?
12 based on our firm plants. 12 A. They'rebuilt in on a megawatt, but we do not
13 Q. Okay, so when your peak arrivesin January-- 13 planfor any significant energy production
14 well, when it arrived, presumably in January 14 from the gas turbines. They’re not considered
15 of 2003, you were maximizing hydraulic output 15 to be firm plant.
16 in any event, isthat correct? 16 Q. Whilewe'reon the subject of firm energy, |
17 A.Yes, wewould have on ashort--you know, the 17 wanted to ask you a couple of questions that
18 peak that we meet with hydraulic plants versus 18 related to the wind project down on the Burin
19 the overall long-term energy production are 19 Peninsula.  As | understand it, in the
20 disiointed. Aslong aswe have water at the 20 documentation that’s been filed before the
21 intake, then we can max out any hydraulic 21 Board here, there isnothing in the Cost of
22 machine to its capability. Thelack of water 22 Serviceor any of therelated material that
23 means that you will not be able to do that for 23 will go into producing rates at the end of
24 60 percent of the year, it may be 50 percent 24 this process that affect or is affected by the
25 of the year if your inflowsare 10 percent 25 wind project, isthat correct?
Page 147 Page 148
1 A.Thereisnothing in the 2004 Cost of Service 1 A Thereisa-when you look at any hydro plant,
2 toreflect any purchase cost for the wind. 2 there is a forced outage rate or an
3 The contracts are under negotiation with 3 availability figure assigned to it, and on a
4 Newind, aswell aswith the Federal Government 4 wind turbine, wedid undertake areview of
5 under the GPPI Program to, and we are hoping 5 that and | just do not recall at the present
6 to get the best we canfrom the Federa 6 time exactly how much we considered, but it is
7 program to mitigate some of that cost. 7 25 megawatts that by and large will be there,
8 Q. Sointermsof what the Board has to do here, 8 thewind regimeisvery good. But obviously
9 it'sgoing to set rates based on a 2004 test 9 will not be there one hundred percent of the
10 year asif that wind project didn’t exist? 10 time; and nor in our planning do we consider
11 A.If thewind project? 11 al hydro plants, there's aforced outage
12 Q. Asif thewind project didn’t exist. 12 rate, the repair time associated with it as
13 A.It'snotinthe 2004 Cost of Service at this 13 well. It would be alittle bit more for the
14 point in time. 14 winter, but it'sa load capacity factor, |
15 Q. You gave us someinformation yesterday inyour |15 don't recall the numbers offhand.
16 direct examination on the wind project, could 16 Q. Okay, | believe you had some discussion
17 you just remind us of the capacity, you're 17 yesterday which talked about the effect of the
18 talking 25 megawatts, | believe? 18 wind project on your LOLH calculation and will
19  A. The proposed project right now isin the order 19 it or will it not have an effect if it comes
20 of about 38 wind turbines, 25 megawatt 20 about?
21 capacity and approximately 96 gigawatt hours 21 A.l don'trecal exactly, | don’t think we
22 of energy, average energy capability. 22 actually--1 don’t recall any question that we
23 Q. Okay, and assuming that project comes on 23 actually looked at what the impact would be, |
24 stream, will you regard that asbeing firm 24 don't think. It'streated somewhat like the
25 capacity? 25 star, from the point of view of its
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1 MR. HAYNES:
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capability, it'sbasically takeor pay. We
buy when it’s making energy. | don't recall
that we actually did any analysisof LOLH,
including the wind turbinein any RFI.

Q. Okay. Well without getting into a specific
number then, would the introduction of the
wind project asamatter of principle affect
your LOLH calculation?
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head, but | do recall we did say one year
deferral of theLoOLH with a 25 megawatt
additional generation on the Burin Peninsula.

Q. And that, presumably, is inputting into that
calculation something lessthan 25 megawatts
as firm capacity?

A.No, | think that would bethe 25 megawatts
would be there, as assumed inthat figure.
But in the LOLH calculation, which is not just

10 A. It sanother 25 megawatts on the system and it 10 astraight mathematical thing, you have to

11 would have impact. It would be 25 megawatts 11 consider the megawatt capacity, you haveto

12 that we would assume would be thereand it is 12 consider the capacity factor and al of that

13 there most of the year in some capacity or 13 goesinto the equation, for the lack of a

14 another, but it’ s not dispatchable in the same 14 better word, to come up with that there. And

15 sense that the NUGS are not dispatchable. 15 | think it was aone-year deferral of the--

16 Q. Okay, and youdon't know what capability 16 when wewould actually bein trouble on the

17 factor would be assigned to the wind project 17 LOLH criteria.

18 at this point? 18 Q. Sointermsof your Table 8 and maybe we could

19 A.ldon'trecal offhand, I'm sorry. 19 put that up, Mr. O’'Rellly at page 37. You're

20 Q. Sodoyou know or not whether the wind project |20 suggesting that instead of 2010 or 2011 when

21 would delay the violation of your LOLH 21 the capacity criterion would be violated, that

22 guideline and if so, to what extent? 22 would be 2012?

23 A.| believe we indicated before of approximately 23 A. That'scorrect.

24 one year, the LOLH--I don't recall actually a 24 Q. Okay, and what about the energy balance issue?

25 question regarding that, off thetop of my 25 A.l would assumethat basically we'll have
Page 151 Page 152

1 another 96 gigawatt hoursper year, so it 1 if thewind project goes ahead, the time at

2 would have someimpact on that number, but | 2 which the demand criteriagets violated and

3 don't know the specifics because you till 3 the time at which the energy balance criteria

4 haveto consider the time and the capacity 4 gets violated tendto move a bit closer

5 factors and so on. We would actually have to 5 together?

6 run that particular thing, but | would suggest 6 A.ltmayand| guesswhat we had said previous

7 it may be ayear or so. 7 isthat it would see one year deferral in the

8 Q.Okay. Onyour current Table 8, there's a 8 addition of new plant to meet those needs.

9 minor violation, | guess, of your energy 9 Q. Okay. Areyou aware of the practices of other
10 balance criteriain 20097 10 utilities in terms of whether they regard wind
11 A Yes 11 power as being firm capacity?

12 Q. Andthere’sa more significant one in 2010. 12 A. Notimmediately. | know that we have reviewed
13 If in fact your energy forecast increased by 13 that with respect to other utilities and there

14 96 gigawatt hours per year, it would in fact 14 is certainly--there is certainly some issues

15 be 2011 before your energy balance criteria 15 with respect to the integration of wind into a
16 was violated? 16 system if the numbers get too big with respect
17 A.I’'mnot sureif that’s exactly right because 17 to regulation andthat criteria. It is

18 the energy balance is based on a firm 18 usually considered and I’ve read papers on
19 sequence, I'm not sure exactly how thewind 19 that, but I'm not quite surein the context

20 wastreated in that particular calculation, 20 right now. There issome practicein the

21 but | think a year or so would be an 21 industry how that’ s incorporated into capacity
22 approximate number that we would, on acursory |22 planning.

23 nature, evaluate as being a reasonable 23 Q. Soyou havenot, to date, incorporated the

24 approach. 24 potential capacity from the wind power project
25 Q. Sowould it befair to say though, that with-- 25 into your near term capability requirements,
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1 HUTCHINGS, Q.C.: 1 think you would have to go to one of the load
2 isthat fair? 2 forecast schedules, | believe, actually it
3 A.No, nor havewe put itinto our--you know, 3 doesn't golong term. | didn't actually
4 it's not in the 2000 test year in any form. 4 calculate the number, but | presume Table 8
5 Q.No, no, and that’s quite properly so, and | 5 would be close toit, but I didn’t actually
6 mean, subject to the Order in Council in any 6 calculate the figure.
7 event, but in terms of your long-term planning 7 Q. So you think that that figure should be
8 or near-term planning between now and 2012, 8 calculable from Table 8?
9 you haven't incorporated the potential 9 A.Should beclose.
10 existence of the wind power into that scenario 10 Q. Andwhenyou say load growth projection, are
11 either, have you? 11 you speaking peak or energy or both?
12 A.I’'msurethat planning has looked at it, but 12 A Typicaly that would be energy.
13 we have not provided any information in any 13 Q.Okay. There's a significant increase,
14 RFI to any details of that effect. 14 obviously, in 2012 which you referred toin
15 Q. Okay. At page 33 of your evidence, when you 15 your evidence asrelating to the Voisey’s Bay
16 speak of the long-term planning forecast, | 16 Mineral Project Development. Can you tell us
17 think that’s 34, yes, okay, you' re speaking of 17 what the averageload growth would be from
18 the long-term planning load forecast and at 18 2003 to 2011 beforethe Voisey’'s Bay Project
19 line 6 you say, "Hydro’s current ten-year 19 fitsin?
20 annual average load growth projection for the 20 (1:00 p.m.)
21 Island Interconnected Systemis 1.3 percent.” 21 A.l cannot calculate that in my head, I’m sorry.
22 Isthat figure calculable from your Table 8 or 22 Q. Canyou undertake to provide that for us?
23 how do you come up with the 1.3 percent? 23 (Undertaking).
24 A.|think you would haveto goto the--just a 24 A.Yes, wewill.
25 second, I’'m going to refer before | speak, | 25 GREENE, Q.C.:
Page 155 Page 156
1 Q. lwonder if Mr. Hutchings could repeat the 1 it at page 138 of the transcript of yesterday,
2 question. 2 atlines 12to 18, and that'sthe average
3 HUTCHINGS, Q.C.: 3 annual energy for Holyrood, based ona 75
4 Q. I'd liketo have theannual average load 4 percent availability factor. And you gave the
5 growth projection for the Idland 5 numbers of 466 megawatts times 8,760 hoursin
6 Interconnected System between 2003 and 2011, 6 a year, times 75 percent. | did that
7 on the assumption that the ten-year one that 7 calculationand | couldn’'t come up with the
8 Is referred to at page 33 of Mr. Haynes 8 2996 that is in your table. Is there
9 evidence is from 2003 to 2012. 9 something else we should be doing?
10 Q. Mr. Haynes, | notice that one of the 10 A. Canl ask how far off you were? It's actually
11 challenges you referred to inyour direct 11 46 or 6 1/2 megawatts and somebody may have to
12 evidence that Newfoundland and Labrador Hydro |12 count it for aleap year, I'm not sure, but -
13 facesisthe question of isolation. Did you 13 Q. Weended up with afigure of 3061, as opposed
14 feel better about being isolated in August of 14 to 2996.
15 20037 15  A. That maybe the half megawatt, the actual net
16 A. Wewill survive the 2003. We're doing amuch 16 rating is 466.5 megawaitts, is the net rating.
17 better job. 17 Q. Oh, I think that would makeit worse, well
18 Q. Sothere are some advantages, actually, to 18 then we get 3064.
19 being isolated, aren’'t there? 19  A. Recalculate the number.
20 A.Ondayslikethat, yes. 20  Q.Uh-hm?
21 Q. Yes, noquestion. All the treesin Ohio can 21 A.lsayl will get the number recalculated but
22 fall and we're quite safe here. 22 that' sfairly close.
23  A.lceusuadly getsus. 23  Q.Yes. The38percent that you referred to,
24 Q. That'strue. One other calculation that | 24 that is the capability basically from your
25 wanted to review with you and you referred to 25 thermal production, as opposed to the actual
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1 HUTCHINGS, Q.C.: 1 tableon the second page. Thisshows the
2 percentage of thermal that you would havein 2 actual production, as we understand it, on the
3 any given year, isthat correct? 3 Island Interconnected System from 1992 up
4  A.Which lineareyou referring to please? You 4 throughto 2002. And on calculations that
5 said 38 percent? 5 we' ve done, | think in 2002 it looks like
6 Q.Yes | think Mr. Wells referred, in his 6 about 36.5 percent of your production was
7 evidence, to 38 percent of the capacity of the 7 thermal, does that sound about right to you?
8 system being thermal ? 8 A.Yes, that'senergy, that’snot the number we
9 A.Yes, the 38 percent of Hydro's tota 9 were just speaking to a minute ago.
10 capability, our own generation plus what we 10 Q. Yes that's energy, yes. Andrunning down
11 purchase from our NUGS is 37.6 percent. 11 through the years, back to 1992, | think 1994
12 That’s Holyrood, plusthegas turbines, the 12 was probably the best year in the sense that
13 Hawke' s Bay diesdl, et cetera 13 only 13.4 percent of the energy was produced
14 Q. Right, okay, but in termsof your actual 14 from your thermal plants on that--in that
15 production, you have never actually reached 15 year? Does that look about right to you?
16 that number, have you, that percentage? 16 A.Yes, Holyrood was 770, that’s alow year.
17 A.l can’'t say whether we have in any particular 17 Q. Yes, and on our calculation, the average over
18 point in timewith all the machineson, | 18 the period that’ s shown there would be about
19 would suggest that when we were meeting peak |19 24.2 percent of your production being thermal.
20 last year in 2002, we called upon Newfoundland |20 Doesthat figure sound generally correct to
21 Power aswell to start their gas turbines, so 21 you?
22 we would have been fairly close of dispatching 22 A.I'll trust your math, that is correct, it's
23 al plant that was not on maintenance or--to 23 not surprising.
24 do that. 24 Q. Pardon me?
25 Q. Okay, could webring up 1Cc-151? Go to the 25 A.lsaid I’'mnot surprised by the number, |
Page 159 Page 160
1 didn’t check the numbers, | assume your math 1 anticipated average purchases from your power
2 is correct. 2 purchase contracts and then deduct that from
3 Q. Yeah, okay. Andcan youtell us what your 3 thetotal required, and the balance becomes
4 plan for 2004 callsfor, interms of energy 4 your anticipated production at Holyrood, is
5 production from Holyrood, what percentage 5 that correct?
6 would be thermal ? 6 A.That'smore or less correct, yes.
7 A.Yes that'sin Schedule 7, | believe. Maybe 7 Q.1 wantto speak alittle, Mr. Haynes, with you
8 not Schedule 7--excuse me for a second while | 8 about the short-term load forecasts and how
9 find it. 9 you handle those. | think we' ve had described
10 Q. You're looking at the net production of 10 here previously the process whereby you obtain
11 1790.15 gigawatt hours? 11 load forecasts from each of the Industrial
12 A. That soundsright. 12 Customers and from Newfoundland Power, and add
13 Q. Okay. And haveyou calculated what percentage |13 to that your own forecast for Hydro Rural for
14 that is of your total ? 14 the purpose of determining what loads you're
15  A. | have nat, no. 15 likely to have to meetinthetest year, is
16 Q. Okay. I'vedoneit acouple of different ways 16 that correct?
17 and | come up with numbersin the range of 23 17  A. That'scorrect.
18 to 26 percent. Does that sound about right to 18 Q. Okay. Can you describe for ushow you dea
19 you? 19 with this raw datathat isprovided to you
20 A.I’'mnot surprised. 20 from Newfoundland Power and the Industrial
21 Q. Yeah, okay, dl right. In doing these 21 Customers, whether--what scrutiny it undergoes
22 caculations, | assumeand | think this is 22 or whether it's questioned or what happensto
23 what you confirmed for Mr. Kelly earlier, that 23 it?
24 you take your anticipated average production 24 A. | guessbasically each year we would go back
25 from your hydraulic sources and your 25 to the Industrial Customers and Newfoundland
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1 MR.HAYNES: 1 Customer, whether it would be a paper mill or
2 Power to get a revision of their load 2 NARL. And often timesif they have a planned
3 forecast. | think most of the short-term ones 3 shut down or a magjor overhaul of any
4 are questioned ina sensethat is anything 4 component, we would see that and we would just
5 therethat we have some discomfort with or 5 seek to verify what the rationale was and to
6 don't quite understand their rationale for it, 6 ensure it was done. If Newfoundland Power had
7 we'll go back and seek explanation. For 7 asignificant changein their load factor,
8 instance, if the Mill has a shutdown, 8 from year to year, we would question to, maybe
9 presumably they would put that in the forecast 9 adouble check on their part or a double check
10 and we would reflect that in our forecast and 10 on our part to ensure it is the best guess at
1 so on and the same thing with Newfoundland 1 the time.
12 Light and Power. We would get aforecast and 12 Q. Okay. And did you question the load forecast
13 we would look at the energy and demand numbers 13 that was produced in the fall of 2001 by
14 and question if we felt that it was something 14 Newfoundland Power for itsrequirements for
15 out of the ordinary which wedidn't quite 15 the test year of 2002 at the last hearing?
16 understand, we would seek resolution to 16 A. That wasreviewed by our forecasting group and
17 understand that. But by and large, they are 17 there was nothing that--the explanations
18 accepted largely as proposed with some minor 18 provided were all rational, logical and we
19 tweaks here and there. 19 accepted that particular forecast.
20 Q. Andwhat sort of thingwould impel you to 20 Q. Canyoutell uswhat those explanations were?
21 question aload forecast in those situations? 21 A.lcan't tell youthat offhand, I'm sorry.
22 A If there was a change in the load factor based 22 That would have been done between our
23 on the historic one that they had or if there 23 forecasting group and the appropriate
24 was asignificant reduction inthe energy 24 department in Newfoundland Power. | don’t
25 requirements, particularly from an Industrial 25 know the detail.
Page 163 Page 164
1 Q. Again,if | can get youtolook at page 31 of 1 A.Inmeeting our customer demands, yes.
2 your evidence and at the bottom of the page 2 Q.Yes okay. Thisisthe 2002 actual Cost of
3 there in Section 8.2 at lines 28 and 3 Service for the total system. And it shows,
4 following, you note that for 2002, your 4 among other things, the revenue to cost
5 overall salesand bulk deliverieswere 48 5 coverage in the last column on the right hand
6 gigawatt hours higher than the operating 6 side. Do you know the significance of revenue
7 forecast. 7 to cost coverage as it shows up here?
8 A Yes 8 A.l don't have a detailed knowledge of
9 Q. That'sa correct number, isit? And that 9 explaining the Cost of Service model when
10 resulted from two factors which you refer to 10 that’sdone. And | would prefer to push that
11 inyour next sentence, "utility salesbeing 11 to Mr. Banfield and Mr. Greneman.
12 107 gigawatts hour higher than forecast and 12 Q. Um-hm. | understand that. Do you know what
13 sales to Industrial Customers being 59 13 ratio of revenueto cost istargeted for the
14 gigawatt hours lower than expected", is that 14 Island Industrial Customersin the Cost of
15 correct? 15 Service?
16 A.Yes 16  A.1’'m not sure offhand.
17 Q. Okay. If we could, Mr. O'Reilly, put up IC- 17 (1:15p.m.)
18 1C, page 3 of 98. | recognize, Mr. Haynes, 18 Q. ljust haveto see if we canlook at this
19 that thisisthe dreaded Cost of Service and | 19 another way, Mr. Henderson (sic.). Do you
20 perhaps should ask you initially, you know the 20 recall what the differences were between the
21 extent of your involvement in connection with 21 initial load forecast that Newfoundland Power
22 the Cost of Service Study itself. 22 produced in 2001 for the 2002 test year and
23 A.Vey limited. 23 the final one which was incorporated into the
24 Q. You recognize that you have significant inputs 24 Cost of Service during the course of the
25 into it. 25 hearing?
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1 MR. HAYNES:

A. | think the 2002 test year would be included
in some of the schedules of the forecast. The
2002 forecast for Newfoundland Power is in
schedule 11 and the forecast was 4485.1
gigawatt hours and the actual was 4588.7.

Q. That’sfrom your schedule 11?

A. That'sin schedule 11, yes.

Q. Now, my question wasasto how the forecast
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49.2, 49.5and it will affect the actual
megawatt number to some degree, but | can’t
speak to any specifics on that, but 1 would
suggest that | believe Newfoundland Power will
be appearing asa witnessand if you were
looking for an explanation of their load
forecasting methodology and those numbers, it
may be better directed to Newfoundland Power.

Q. Okay. Can|l refer you to page 41 of the

10 which Newfoundland Power provided to you 10 testimony of Mr. Olser and Mr. Bowman.
11 initially in 2001 changed between the initial 11 Looking a lines 12 through 18 where they
12 forecast and thefina forecast that was 12 remark upon the updating of the Cost of

13 incorporated into the Cost of Service. 13 Service originally filed to reflect the new

14 A.l don't have that knowledge offhand as to what 14 Newfoundland Power load forecast. | mean, |
15 was actually the initial versuswhat wasin 15 take it you were aware that there was such an
16 the final test year. 16 amended forecast filed, is that correct?

17 Q. You had some discussionswith Mr. Kelly this 17 A.Yes, | dorecdl that, but | did not delve

18 morning about the significance of the load 18 into that in any specific degree. And | guess

19 factorsthat are used and that’s related in 19 to explain that, | think it still would be
20 part to hisdiscussion about the generation 20 most appropriate that as Newfoundland Power
21 credit. Do you know what impacts the load 21 are appearing, that they may be better to
22 factor assignedto Newfoundland Power has 22 explain that change than us.
23 under the Cost of Service Study? 23 Q.Okay. But | mean, it was Hydro that
24 A.ltcertainly has animpact. | think inthe 24 incorporated thischange into the Cost of
25 order of lessthan 50 percent load factor, 25 Service for 2002, correct?

Page 167 Page 168

1 A.Ohyes, and we did incorporate their forecast. 1 inline 17 of the page that we're looking at

2 Wedid discussthiswith Newfoundland Power 2 here, that the actual recorded peak was

3 and we accepted their explanation and 3 1,047,534 kilowatts.

4 rationale as to the merits of that particular 4 Al assume, | didn't go back and check the

5 load forecast. 5 report. | would suggest, | mean, itis a

6 Q.Okay. Anddo | takeit that you agree with 6 forecast, there are alot of variablesthat

7 the substance of this evidence that the 7 affect the actual end number at the end of the
8 initial forecast peak was 953,251 kilowatts at 8 year, the degrees days, et cetera, et cetera.

9 transmission and the revision reduced that to 9 So, at that particular time, | assumed it was

10 923,476 kilowatts? 10 Newfoundland Power’s and best guessand we
11 A. | presume he staken the information from the 11 concurred with their forecast, it changes.

12 evidence, sol have noreason to suggest 12 Q. My question, | guess, is to you whether this
13 otherwise. 13 forecast reduction of 30,000 kilowatts without
14 Q. Um-hm. And Hydrotook that ninehundredand |14 any significant reduction in energy forecast

15 twenty threethousand kilowatt number and 15 would be sufficient to cause Hydro to question
16 incorporated that into the Cost of Service, 16 Newfoundland Power’ s forecast?

17 correct? 17 A.Asl indicated, wedo question Newfoundland
18  A.Waéll, | guessthe forecast was 1001 according 18 Power’s forecast when we see changes that
19 to schedule 10, but that may be losses, 19 would draw our attention. They’re explained
20 distribution losses or whatever incorporated 20 and rationalized and it was accepted. And -

21 in there, | don’t know. 21 Q.Youcan't tell us at this point what that

22 Q.Okay. And I takeit, we can probably confirm 22 explanation was, can you?

23 and | guessthis takes into account the 23 A.ldon't know offhand, but as | said, with

24 transmission losses--but this number is taken 24 respect to Newfoundland Power, they do have a
25 from the Cost of Service Study asit appears 25 witness appearing and they would bein the
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1 MR.HAYNES: 1 GREENE, Q.C:
2 best position to explain their forecasting 2 Q. And again, as Mr. Haynes has pointed out, Mr.
3 methodology and any changes based on the 3 Henderson, from Newfoundland Power who is the
4 actual experience they incurred. 4 witnesswho actually has responsibility for
5 Q. I'dlikeyou to undertake, sir, to provide us 5 forecasting at Newfoundland Power will also be
6 with the explanation that Newfoundland Power 6 a witnessat this hearing and it may be
7 gaveyou at the time. Would you do that? 7 appropriate that if the Industrial wish to
8 (Undertaking) 8 pursue that issue, that it would be doneto
9 A Okay, yes. 9 the person or to Newfoundland Power whose
10 GREENE, Q.C.: 10 forecast we're talking about.
11 Q. l would point out this isalso the subject 11 HUTCHINGS, Q.C..
12 matter of cross-examination in the last 12 Q. Well certainly be pursuing with Newfoundland
13 hearing by the Industrial Customers that was 13 Power aswell, Mr. Chair, but | mean, given
14 also considered by the Board and the Board 14 that this is Newfoundland Hydro’s hearing and
15 approved the use of this forecast and the Cost 15 they arethe oneswho have ajudgment to
16 of Service methodology and we will undertake 16 exercise as to whether or not they accept the
17 to provide the explanation aswe did during 17 information that Newfoundland Power provides
18 the last hearing. 18 to them, | think it's still appropriate to
19 HUTCHINGS, Q.C.: 19 pursue it as we have, but we will be pursuing
20 Q. Well, we now have the additional information 20 it with other witnesses as well.
21 of how many millions of dollarsthis here 21 GREENE, Q.C.:
22 actually cost us, Mr. Chair, so | thinkit's 22 Q. The only pointis we're talking about a
23 certainly worthwhile to pursue thisalittle 23 forecast that was approved by the Board and
24 further and | would like that information in 24 used in setting the 2001 rates. We're looking
25 order to be able to proceed. 25 at the past. We will provide the explanation
Page 171 Page 172
1 asrequested. | just question the merit of 1 Q. Yes okay. If wecan move now to Table 7 of
2 pursuing it aswe'relooking at setting 2004 2 your current evidence, table 7 on page 30.
3 rates. 3 This table shows the recommended full historic
4 HUTCHINGS, Q.C.: 4 records and the column headed existing 1973 to
5 Q. A coupleof other pointsthat we may be able 5 2002, that’'s the 30-year record, is that
6 tofit in before the break, Mr. Haynes, on the 6 correct?
7 subject of hydrology, in the previous Board 7 . That would have been the most recent 30-year
8 order P.U. No. 7, and perhaps we could go to 8 record at that time. In the last rate
9 that at page 48, down alittle further toward 9 hearing, obviously, we're using numbers up to
10 the bottom of the page there. We havethe 10 the end of 2001. Thiswould reflect numbers
11 direction of the Board therein bold at the 11 for our full record that we have going back 30
12 bottom in termsof theuse of the 30-year 12 years. So, it would not be identical, but
13 average annual hydraulic production of 4, 425 13 it'sbased onthe same premise, it's a30-
14 gigawatt hours, that’s the basis for the test 14 average. So, it dropped an old year and added
15 year hydraulic forecast. If wewere togo 15 anew year.
16 back one page, | think we'll see there that 16 Q. Okay. And aswe discussed earlier, while the
17 just under the heading "test year, hydraulic 17 inflows themselves are not affected by Granite
18 production forecast”, the long-term forecast 18 Canal, the hydraulic capability certainly is
19 that Hydro is using or wished initialy to use 19 affected and adds 224 gigawatt hours to both
20 in the 2002 test year was 4,285 gigawatt 20 columns, correct?
21 hours, is that correct? 21  A.That'scorrect, yes.
22  A.Yes. 22 Q.Yes. So, canyou just explain for us how the
23 Q. That'swhat you wanted to usein 2002, is that 23 full recommended historic record as it stands
24 correct, Mr. Haynes? 24 now, if you take out Granite Canal, the 224
25 A. That'swhat was used in that hearing, yes. 25 gigawatt hours has changed since the 2002 test
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1 HUTCHINGS, Q.C.: 1 Board ordered in P.U. 7 on the basis of the 30
2 year numbers. As| calculated, there would be 2 year average and what that would be today once
3 a 51 gigawatt hour difference? 3 you take out Granite Canal, is that correct?
4 A Fifty onebeing, I'm sorry, the - 4  A. TheBoard Order wasthe most recent 30 years
5 Q.Okay. Ifyou took the full recommended 5 experience and that’swhat we prepared for
6 historic record from your table and deducted 6 this particular filing.
7 the 224 from Granite Canal, you should end up 7 Q. Do you know what amount of money is reflected
8 with 4,234 gigawatt hours. 8 in the revenue requirement as aresult of that
9 A.Yes. 9 change of how much, for instance, would be
10 Q. Andthatis 51 gigawatt hoursless than the 10 represented by those 67 gigawatt hours, in
11 4,285 that you wanted to use in 2002. 11 terms of revenue requirement?
12 A.That would be the addition of a 2002 12 A.Waél, it would be--the simple approach would
13 experience, which we did not have obviously, 13 be, and | don’t want to cal cul ate the numbers,
14 during the 2002 hearings. So, it was alow 14 would be that particular amount of energy at
15 inflow year, | believeit was the seventh or 15 624 kilowatt hours per barrel, times $29.20 a
16 eighth lowest on record or something to that 16 barrel, based on the filing.
17 effect. So, they would actually reducethe 17 Q. Okay. That's probably asgood atime as any
18 average. So, basically the table there 18 to break, Mr. Chair.
19 reflects the 2002 experience which was alow 19 GREENE, Q.C.:
20 inflow year. 20 Q. Excuseme, Mr. Chair. If | might,| had a
21 (1:30 p.m.) 21 document 1'd liketo circulate before we
22 Q.Yes. Andit affects the averageon the 30 22 concluded today.
23 year one, even more so, obviously as would be 23 CHAIRMAN:
24 mathematically correct. | think there’'sa 67 24 Q. Sure.
25 gigawatt hour difference between what the 25 GREENE, Q.C.:
Page 175 Page 176
1 Q. Youwill recall that we dedlt earlier with the 1 they may be sowecan get someidea of the
2 undertakings that had been given prior to 2 schedule for Thursday and Friday.
3 today and | had indicated with respect to one 3 CHAIRMAN:
4 that was given to Mr. Kennedy about providing 4 Q. Wecandothat.
5 historical information for the key performance 5 HUTCHINGS, Q.C.:
6 indicators, that we would be able to do that. 6 Q.| would anticipate, Mr. Chair, that if we are
7 And what | would like to distribute now isthe 7 not finished by the break tomorrow, we'll be
8 actual information with respect to the key 8 finished shortly thereafter.
9 performance indicators with the historical 9 CHAIRMAN:
10 data back to 2000 and with the forecast for 10 Q. Okay.
11 2003 where appropriate, including actuals and 11 MR. KENNEDY:
12 where we didn’t use actuals, we never used the 12 Q. You'reputting me onthe spot, | would--I
13 target for 2003. So, this is our last 13 shouldn’t be any more than half an hour or 45
14 undertaking to respond to prior to those that 14 minutes with Mr. Haynes. So, it's a
15 arerequired for today. So, | have copiesto 15 reasonabl e prospect you might finish with Mr.
16 distribute now. 16 Haynes on Thursday.
17 CHAIRMAN: 17 GREENE, Q.C.:
18 Q. Thank you, Ms. Greene. Thank you, Mr. 18 Q. Yes, | thought that might be the case and |
19 Hutchings and Mr. Haynesas well. According 19 just wanted to indicate, we are prepared to
20 to the calender, | guess, we have a day off 20 proceed with Mr. Martin on Friday and | just
21 tomorrow. No bad strategic scheduling after 21 wanted to ensure that that was everyone's
22 an election day, | don’t think. 22 understanding.
23 GREENE, Q.C.: 23 CHAIRMAN:
24 Q.| wonderif it would be possible if the 24 Q.I'dliketodo that if wecan, yes. Sounds
25 Industrials could indicate how long, further 25 good to me. Do thisneed to be assigned a -
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1MS. NEWMAN:
2 Q. It would dready have, | guess, a number

3 assigned. Wecan track that down and let

4 everybody know what the number is.

5 CHAIRMAN:

6 Q.Okay. Thanks very much, enjoy your evening

8 Thank you.
9 Upon conclusion .

Page 177

7 and we'll see you at 9:00 on Thursday morning.
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